
CHEMISTRY

FOR IIT JEE ASPIRANTS OF CLASS 12 FOR

CHEMISTRY

18TH GROUP ELEMENTS

W E 1

W E 2

1. The s-block element present in zerogroup is _______.

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_etqhWvMvjqSb


W E 3

W E 4

1. The most appropriate name for zerogroup elements is

_________.

Watch Video Solution

1. Why Helium is totally inert ?

Watch Video Solution

1. Liquid Helium is called superfuluid. Why ?

https://dl.doubtnut.com/l/_rQSPMIltBoiL
https://dl.doubtnut.com/l/_Gz9HDrVuH3lV
https://dl.doubtnut.com/l/_Wbe5p1BYrf3m


W E 5

W E 6

Watch Video Solution

1. Which inert gas obtained from monazite sand ?

Watch Video Solution

1. Name the Fluoride of Xenon which undergoes thermal

decomposiotion ?

Watch Video Solution

https://dl.doubtnut.com/l/_Wbe5p1BYrf3m
https://dl.doubtnut.com/l/_fhcagAgNuGo1
https://dl.doubtnut.com/l/_doGiyvocGq3k


C U Q

1. Noble gases are also known as

A. Chalcogens

B. Halogens

C. Aerogens

D. Transition elements

Answer:

Watch Video Solution

2. The valence shell configuration of noble gases (except He)

is

https://dl.doubtnut.com/l/_xCAfMYONxXAl
https://dl.doubtnut.com/l/_koxMA4OZW9t8


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ns2np4

ns2np1

ns2np6

ns2np6nd10

3. The atomicity of noble gases is

A. Two

B. One

C. Six

D. Four

https://dl.doubtnut.com/l/_koxMA4OZW9t8
https://dl.doubtnut.com/l/_VhXSvlFgNu1D


Answer: C

Watch Video Solution

4. The most abundant noble gas in the atmosphere is

A. Argon

B. Neon

C. Helium

D. Krypton

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_VhXSvlFgNu1D
https://dl.doubtnut.com/l/_JY1YOp6aDhG6


5. The least abundant inert gas in the atmosphere is by

volume

A. Ne

B. He

C. Ar

D. Xe

Answer: A

Watch Video Solution

6. Which of the following inert gas is available only as a

product in the radioactive disintegrations ?

https://dl.doubtnut.com/l/_nJ2CWfV83aaz
https://dl.doubtnut.com/l/_iAuP693piGGV


A. He

B. Ar

C. Rn

D. Kr

Answer: D

Watch Video Solution

7. The most abundant of helium is

A. Spring waters

B. Natural gas

C. Clevite

D. Sun

https://dl.doubtnut.com/l/_iAuP693piGGV
https://dl.doubtnut.com/l/_NeidFnrvY9t1


Answer: B

Watch Video Solution

8. The inert gas predicted from the solar spectrum is

A. Ne

B. Kr

C. Xe

D. He

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_NeidFnrvY9t1
https://dl.doubtnut.com/l/_W93JSd5toc63


9. Which of the following is the correct sequence of the

noble gases in their in the periodic table ?

A. Ar, He, Kr, Ne, Rn, Xe

B. He, Ar, Ne, Kr, Xe, Rn

C. He, Ne, Kr, Ar, Xe, Rn

D. He, Ne, Ar, Kr, Xe, Rn

Answer: D

Watch Video Solution

10. Which of the following is not a noble gas ?

A. N2

https://dl.doubtnut.com/l/_BFFYQE3enoOV
https://dl.doubtnut.com/l/_IljHZ6e7pcCY


B. He

C. Ne

D. Ar

Answer: A

Watch Video Solution

11. Which one of the following configuration represents Ar. ?

A. 

B. 

C. 

D. 

1s22s22p63s2

1s22s22p63s23p5

1s22s22p63s23p6

1s22s22p63s23p2

https://dl.doubtnut.com/l/_IljHZ6e7pcCY
https://dl.doubtnut.com/l/_SP5jQWSsYdir


Answer: C

Watch Video Solution

12.  is the electron configuration of

A. Nitrogen

B. Boron

C. Argon

D. Neon

Answer: D

Watch Video Solution

1s22s22p6

https://dl.doubtnut.com/l/_SP5jQWSsYdir
https://dl.doubtnut.com/l/_bJy5mxGOf6xl


13. Which of the following corresponds to the configuration

 ?

A. He

B. Na

C. Mg

D. Ar

Answer: D

Watch Video Solution

1s22s22p63s23p6

14. The forces of attraction operating between atoms of

inert gases are

https://dl.doubtnut.com/l/_ULOGzxxm4yP5
https://dl.doubtnut.com/l/_9v9FzEQiG09y


A. Electrostatic forces

B. Ion dipole forces

C. Magnetic forces

D. Vander Waals' forces

Answer: D

Watch Video Solution

15. Which of the following noble gas is least polarisable ?

A. He

B. Ne

C. Kr

D. Xe

https://dl.doubtnut.com/l/_9v9FzEQiG09y
https://dl.doubtnut.com/l/_QnofhrqAzVTk


Answer: A

Watch Video Solution

16. Boiling point is very high for

A. He

B. Ne

C. Kr

D. Xe

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_QnofhrqAzVTk
https://dl.doubtnut.com/l/_2BEVeyC2D52u


17. Chemically least active element is

A. Kr

B. Ne

C. Xe

D. Ar

Answer: B

Watch Video Solution

18. The noble gas which can from more number of

compounds is

A. Ne

https://dl.doubtnut.com/l/_3B4afyCP0pjN
https://dl.doubtnut.com/l/_OsNEYaKvlPos


B. He

C. Xe

D. Ar

Answer: C

Watch Video Solution

19. The last member of the family of inert gases is

A. Argon

B. Radon

C. Xenon

D. Neon

https://dl.doubtnut.com/l/_OsNEYaKvlPos
https://dl.doubtnut.com/l/_r4GYcL9WWn6o


Answer: B

Watch Video Solution

20. The element having highest ionisation potential is

A. H

B. N

C. O

D. He

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_r4GYcL9WWn6o
https://dl.doubtnut.com/l/_j4VgqzmT5CRw


21. Which is the lightest gas ?

A. Helium

B. Oxygen

C. Hydrogen

D. Nitrogen

Answer: C

Watch Video Solution

22. Which of the following gas is/are called inert gas ?

A. He

B. Ne

https://dl.doubtnut.com/l/_lalxkqdW0CaV
https://dl.doubtnut.com/l/_HtHREsrzgwVI


C. Kr

D. All of these

Answer: D

Watch Video Solution

23. Noble gases form compounds very easily with

A. Sulphur

B. Nitrogen

C. Oxygen

D. Fluorine

Answer: D

https://dl.doubtnut.com/l/_HtHREsrzgwVI
https://dl.doubtnut.com/l/_5fICD13FH9r0


Watch Video Solution

24. Amomng noble gases, only xenon can form more number

of compounds. This is due to ti its

A. High I.P

B. Low I.P

C. Small size

D. less than zero electron affinity

Answer: B

Watch Video Solution

25. The heat of vapourisation is very high for

https://dl.doubtnut.com/l/_5fICD13FH9r0
https://dl.doubtnut.com/l/_ff5NpIwu5Qaf
https://dl.doubtnut.com/l/_iXQDdn2NEExr


A. He

B. Ne

C. Ar

D. Xe

Answer: D

Watch Video Solution

26. The M.P. and B.P. are very low for

A. Ne

B. He

C. Kr

D. Ar

https://dl.doubtnut.com/l/_iXQDdn2NEExr
https://dl.doubtnut.com/l/_I1tmKnDdDEBe


Answer: B

Watch Video Solution

27. The electronic configuration of neon is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1s22s22p6

1s2

2s2

1s22s22p2

https://dl.doubtnut.com/l/_I1tmKnDdDEBe
https://dl.doubtnut.com/l/_EnMfD3IszrAC


28. Which of the following is a most explosive compound ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

XeF6

XeO4

XeF2

XeF4

29. The molecule with with linear structure is

A. 

B. 

XeO3

XeF4

https://dl.doubtnut.com/l/_6ml2bFI1la9c
https://dl.doubtnut.com/l/_6gKk7BZpqFqa


C. 

D. 

Answer: D

Watch Video Solution

XeF6

XeF2

30. The hybridisation of Xe in  is

A. 

B. 

C. 

D. 

Answer: C

XeO3

sp2

sp3d

sp3

sp3d2

https://dl.doubtnut.com/l/_6gKk7BZpqFqa
https://dl.doubtnut.com/l/_QhBK10zFIdGR


Watch Video Solution

31. The shape of  molecule is

A. Tetrahedron

B. Square planar

C. Square pyramidal

D. Trigonal bipyramid

Answer: B

Watch Video Solution

XeF4

32. Which of the following forms maximum number of

compounds ?

https://dl.doubtnut.com/l/_QhBK10zFIdGR
https://dl.doubtnut.com/l/_w3rV5AG93YYO
https://dl.doubtnut.com/l/_x5CpS0HB9rMg


A. Ne

B. Kr

C. Xe

D. Rn

Answer: C

Watch Video Solution

33. The hybridisation of Xe is  in

A. 

B. 

C. 

D. 

sp3d2

XeF2

XeO4

XeF4

XeO3

https://dl.doubtnut.com/l/_x5CpS0HB9rMg
https://dl.doubtnut.com/l/_hngueiLwm4fF


Answer: C

Watch Video Solution

34.  is a square planar molecule. The hybridisation of

xenon atom in this molecule is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

XeF4

dsp2

sp3d

sp3d2

d2sp3

https://dl.doubtnut.com/l/_hngueiLwm4fF
https://dl.doubtnut.com/l/_oPiELK2NqoBm
https://dl.doubtnut.com/l/_WpL4JHCGrf1r


35. The element is used in locating defect in steel casting is

A. He

B. Kr

C. Xe

D. Rn

Answer: D

Watch Video Solution

36. The gas used for inflating the tyres of aeroplanes is

A. Ar

B. He

https://dl.doubtnut.com/l/_WpL4JHCGrf1r
https://dl.doubtnut.com/l/_n0qmaOzH2sR1


C. 

D. 

Answer: B

Watch Video Solution

H2

N2

37. The coloured discharge tubes for advertisement mainly

contains

A. Xe

B. He

C. Ne

D. Ar

https://dl.doubtnut.com/l/_n0qmaOzH2sR1
https://dl.doubtnut.com/l/_Ls7TlOzlGdbA


Answer: C

Watch Video Solution

38. Which gas is filled in element bulbs/tubes?

A. Ar

B. 

C. He

D. 

Answer: A

Watch Video Solution

N2

O2

https://dl.doubtnut.com/l/_Ls7TlOzlGdbA
https://dl.doubtnut.com/l/_E7sYcxCSL1sr


Level I C W

39. The gas used in gas thermometer is

A. He

B. 

C. Xe

D. Ne

Answer: A

Watch Video Solution

O2

1. The lightest noble gas atom contains the following

particles in its nucleus

https://dl.doubtnut.com/l/_lBlCaNLHcVKA
https://dl.doubtnut.com/l/_WwAIfbl9XaWh


A. 4 protons

B. 3 neutrons

C. 3 protons and 1 neutron

D. 2 protons and 2 neutrons

Answer: D

Watch Video Solution

2. The order of abunndance of inert gases in the

atmosphere is

A. 

B. 

C. 

Ar < Ne < Xe

Ar > Ne > Xe

Ar > Xe > Ne

https://dl.doubtnut.com/l/_WwAIfbl9XaWh
https://dl.doubtnut.com/l/_tT8aAAhcQDmu


D. 

Answer: B

Watch Video Solution

Ne > Ar > Xe

3. Which of the following is a false statement ?

A. radon is obtained by the decay of radium

B. helium is an inert gas

C. xenon is the most reacting among rate gases

D. the most abundant rare gas in the atmosphere is

helium

Answer: D

https://dl.doubtnut.com/l/_tT8aAAhcQDmu
https://dl.doubtnut.com/l/_6FZv39jEwceI


Watch Video Solution

4. Which of the following is non-existing ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

H2

O2

N2

He2

5. Electronegativity of inert gases is

https://dl.doubtnut.com/l/_6FZv39jEwceI
https://dl.doubtnut.com/l/_tQnxsQTLYO9A
https://dl.doubtnut.com/l/_qjbJaAYzUnyL


A. low

B. high

C. zero

D. abnormally high

Answer: C

Watch Video Solution

6. Ionisation potential is very low for

A. Xe

B. Ne

C. He

D. Ar

https://dl.doubtnut.com/l/_qjbJaAYzUnyL
https://dl.doubtnut.com/l/_Udq6ca8U4I56


Answer: A

Watch Video Solution

7. The density is very high for

A. Ne

B. Ar

C. He

D. Xe

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Udq6ca8U4I56
https://dl.doubtnut.com/l/_FTm5MIL1nldt


8. which of the following gas does not have an octet or eight

electrons in the outer shell?

A. Neon

B. Radon

C. Argon

D. Helium

Answer: D

Watch Video Solution

9. The value of ionisation energy for inert gases is ________.

A. Zero

https://dl.doubtnut.com/l/_SOLvP3bn20In
https://dl.doubtnut.com/l/_zYNKgYFgOVcr


B. Low

C. High

D. Negative

Answer: C

Watch Video Solution

10. The noble gas which behaves abnormally in liquid state is

A. Xe

B. Ne

C. He

D. Ar

https://dl.doubtnut.com/l/_zYNKgYFgOVcr
https://dl.doubtnut.com/l/_oAoWAd5pCiFW


Answer: C

Watch Video Solution

11. The noble gas with highest ionization energy is

A. He

B. Ar

C. Xe

D. Kr

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_oAoWAd5pCiFW
https://dl.doubtnut.com/l/_s8IXyxxb2awA


12. Which of the following has  hybridization ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

SP 3

XeO3

BCl3

XeF4

BBr3

13. What is the atomic number (Z) of the noble gas that

reacts with fluorine ?

A. 54

https://dl.doubtnut.com/l/_NPnbvA85Fh2U
https://dl.doubtnut.com/l/_MoIHCslRwuJ1


B. 10

C. 18

D. 2

Answer: A

Watch Video Solution

14. Maximum number of compounds are known in the case

of:

A. Ne

B. Xe

C. Kr

D. Ar

https://dl.doubtnut.com/l/_MoIHCslRwuJ1
https://dl.doubtnut.com/l/_YwTchOcDZn9M


Answer: B

Watch Video Solution

15. Among noble gases, only xenon reacts with flourine to

form stable xenon fluorides, because xenon

A. has highest ionisation enthalpy

B. has lowest ionisation enthalpy

C. has highest heat of vapourisation

D. is the most readily available noble gas

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_YwTchOcDZn9M
https://dl.doubtnut.com/l/_yCTlRd9TGUc1
https://dl.doubtnut.com/l/_JOUZQl7wlvCE


16. The bond angle in  molecule is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

XeF2

120∘

109∘

180∘

90∘

17. The number of lone pairs of electrons on xenon atom in

 molecule is

A. 4

XeF4

https://dl.doubtnut.com/l/_JOUZQl7wlvCE
https://dl.doubtnut.com/l/_hnsgbCPb14id


B. 3

C. 2

D. zero

Answer: C

Watch Video Solution

18. The number of s and p bonds in  molecule are

A. 1s , 2p

B. 3s , 3p

C. 3s , 0p

D. 2s , 1p

XeO3

https://dl.doubtnut.com/l/_hnsgbCPb14id
https://dl.doubtnut.com/l/_UdtM4oMo3BCe


Answer: B

Watch Video Solution

19. Which one of the following is a correct pair with respect

to molecular formula of xenon compound and hybridisation

state of xenon in it ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

XeF4, sp3

XeF2, sp

XeF2, sp3d

XeF4, sp

https://dl.doubtnut.com/l/_UdtM4oMo3BCe
https://dl.doubtnut.com/l/_rcboRgGzTEAZ


20. The number of lone pairs of electrons present on Xe in

 ?

A. 3

B. 4

C. 2

D. 1

Answer: A

Watch Video Solution

XeF2

21. The structure of  isXeF6

https://dl.doubtnut.com/l/_rcboRgGzTEAZ
https://dl.doubtnut.com/l/_LOuWLsUPJa6o
https://dl.doubtnut.com/l/_vEurpPkyZ06B


A. distorted octahedral

B. trigonal pyramidal

C. tetrahedral

D. none of the above

Answer: A

Watch Video Solution

22. Which of the following is planar ?

A. 

B. 

C. 

D. 

XeO2F2

XeO3

XeO4

XeF4

https://dl.doubtnut.com/l/_vEurpPkyZ06B
https://dl.doubtnut.com/l/_VOZjB1xCbVln


Answer: D

Watch Video Solution

23. The gas mixture used to provide relief for the asthma

patients in their respiratory problems is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Ne + O2

Xe + N2

Ar + O2

He + O2

https://dl.doubtnut.com/l/_VOZjB1xCbVln
https://dl.doubtnut.com/l/_7XJYXLnyY4ow
https://dl.doubtnut.com/l/_Ew1EtPF5dq10


24. Beacon lights are obtained from

A. Neon lamps

B. Tungston lamps

C. Hydrogen lamps

D. Xenon lamps

Answer: A

Watch Video Solution

25. In ordinary incadescent and fluorscen lamps the gas

filled along with nitrogen is

A. Ne

https://dl.doubtnut.com/l/_Ew1EtPF5dq10
https://dl.doubtnut.com/l/_ogmx1lMTYNvd


B. He

C. Xe

D. Ar

Answer: D

Watch Video Solution

26. Helium - oxygen mixture is used by deep sea divers in

preference to nitrogen-oxygen mixture, because

A. helium is much less soluble in blood than nitrogen

B. nitrogen is much less soluble in blood than helium

C. due to high pressure nitrogen reacts with oxygen to

given posisonous nitric oxide.

https://dl.doubtnut.com/l/_ogmx1lMTYNvd
https://dl.doubtnut.com/l/_eoxLkNoUpXhB


D. nitrogen is highly soluble in water.

Answer: A

Watch Video Solution

27. Which of the following noble gases is used in the

treatment of cancer ?

A. Xe

B. Ar

C. Rn

D. Kr

Answer: C

W t h Vid S l ti

https://dl.doubtnut.com/l/_eoxLkNoUpXhB
https://dl.doubtnut.com/l/_FZOgc8KiW2x7


Watch Video Solution

28. Which one of the following statements regarding helium

is incorrect?

A. It is used to produce and sustain powerful

superconducting magnets

B. It is used as a cryogenic agent for carrying out

experiments at low temperatures

C. It is not used to fill gas balloons instead of hydrogen

because it is lighter and non-inflammable

D. It is used in gas-cooled nuclear reactors

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_FZOgc8KiW2x7
https://dl.doubtnut.com/l/_GPmfHENcluAX


29. Statement I : Balloons made by nylon films are better for

containing helium than the conventional rubber balloons. 

Statement II : R.M.S. velocity of helium is very high. So helium

atom can effuse out through rubber balloons.

A. Both 'I' and 'II' are true. 'II' is correct explanation of 'I'.

B. Both 'I' and 'II' are ture. 'II' is not correct explanation of

'I'.

C. I' is true but 'II' is false.

D. I' is false but 'II' is true.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_GPmfHENcluAX
https://dl.doubtnut.com/l/_56jNaAmjJdYx


30. Statement I : Compared to other noble gases 'Xe' is

chemically active. 

Statement II : 'Xe' has low IP value and vacant 'd' orbitals,

available for the excitation of electrons from 'p' orbitals of

valence shell.

A. Both 'I' and 'II' are true. 'II' is correct explanation of 'I'.

B. Both 'I' and 'II' are ture. 'II' is not correct explanation of

'I'.

C. I' is true but 'II' is false.

D. I' is false but 'II' is true.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_56jNaAmjJdYx
https://dl.doubtnut.com/l/_xyqBjNusd8B5


31. Statement I : Noble gases have highest ionization

energies in their respective periods. 

Statement II : The ns-np of outermost shell of noble gases is

completely filled.

A. Both 'I' and 'II' are true. 'II' is correct explanation of 'I'.

B. Both 'I' and 'II' are ture. 'II' is not correct explanation of

'I'.

C. I' is true but 'II' is false.

D. I' is false but 'II' is true.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_xyqBjNusd8B5
https://dl.doubtnut.com/l/_xkZGjMUM7Zio


32. Statement I : Deep sea divers use  mixture for

breathing 

Statement II : Unlike , He is not soluble in blood even

under high pressure.

A. Both 'I' and 'II' are true. 'II' is correct explanation of 'I'.

B. Both 'I' and 'II' are ture. 'II' is not correct explanation of

'I'.

C. I' is true but 'II' is false.

D. I' is false but 'II' is true.

Answer: A

Watch Video Solution

He − O2

N2

https://dl.doubtnut.com/l/_9byEHu1HdVFH
https://dl.doubtnut.com/l/_HmO3PNL55egt


33. Assertion :Solubility of noble gases in water decreases

with increases in atomic size 

Reason :Solubility of noble gases in water is due to

instantaneous dipole induced dipole interaction

A. Both 'I' and 'II' are true. 'II' is correct explanation of 'I'.

B. Both 'I' and 'II' are ture. 'II' is not correct explanation of

'I'.

C. I' is true but 'II' is false.

D. I' is false but 'II' is true.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_HmO3PNL55egt


34. Statement I : He - II has high viscosity and flows

downward. 

Statement II : Liquid helium is used as cryogenic liquid.

A. Both 'I' and 'II' are true. 'II' is correct explanation of 'I'.

B. Both 'I' and 'II' are ture. 'II' is not correct explanation of

'I'.

C. I' is true but 'II' is false.

D. I' is false but 'II' is true.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_JWhk3eRGo1DE


35. Statement I : In sea diver gases, the nitrogen of normal

air is replaced by helium. 

Statement II : Nitrogen becomes more soluble in the body

fluids at high pressures and cases conditions similar to

alcohol intoxication.

A. Both 'I' and 'II' are true. 'II' is correct explanation of 'I'.

B. Both 'I' and 'II' are ture. 'II' is not correct explanation of

'I'.

C. I' is true but 'II' is false.

D. I' is false but 'II' is true.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_347FzLMMYiJF


36. Statement I : Xenon form fluorides. 

Statement II : Because 5d orbitals are available for valence

shell expansion.

A. Both 'I' and 'II' are true. 'II' is correct explanation of 'I'.

B. Both 'I' and 'II' are ture. 'II' is not correct explanation of

'I'.

C. I' is true but 'II' is false.

D. I' is false but 'II' is true.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_PPIBii6lb4Og


37. Match the following. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

List-I List-II

(A)XeF4 (1)Distorted octahedral

(B)XeF6 (2)Tetrahedral

(C)XeO3 (3)Square planar

(D)XeO4 (4)Pyramidal

A B C D

1 2 3 4

A B C D

3 1 4 2

A B C D

1 3 2 4

A B C D

2 4 1 3

https://dl.doubtnut.com/l/_258XIi31fbjz


Level Ii C W

38. Matrix Matching. 

Watch Video Solution

List-I List-II

(A)Gas Thermometers (p)He

(B)Beacon lamp (q)Ne

(C)Electric bulbs (r)Xe

(D)Flash bulb (s)Kr

1. Oxidation state of Xe in  is

A. 4

B. 6

C. 7

Ba2[XeO6]

https://dl.doubtnut.com/l/_dz4QV8HOAc9C
https://dl.doubtnut.com/l/_Q23FVT2JdPIr


D. 8

Answer: D

Watch Video Solution

2. The elements which occupy the peaks of ionization energy

curve are

A. Na,K,Rb,Cs

B. Na,Mg,Cl,I

C. Cl,Br,I,F

D. He,Ne,Ar,Kr

Answer: D

W t h Vid S l ti

https://dl.doubtnut.com/l/_Q23FVT2JdPIr
https://dl.doubtnut.com/l/_oQqk3j36BpQV


Watch Video Solution

3. The lowest boiling point of helium is due to its

A. inertness

B. Gaseous nature

C. High polarisability

D. Weak van der Waals forces between atoms

Answer: D

Watch Video Solution

4. Noble gases are group of elements which exhibit very :

https://dl.doubtnut.com/l/_oQqk3j36BpQV
https://dl.doubtnut.com/l/_urIWkIkBW1tk
https://dl.doubtnut.com/l/_bJOgUhu4TcEC


A. High chemical activity

B. Much paramagnetic properties

C. Maximum electronegativity

D. Low chemical activity

Answer: D

Watch Video Solution

5.  on complete hydroysis gives.

A. Xe

B. 

C. 

D. 

XeF6

XeO2

XeO3

XeO4

https://dl.doubtnut.com/l/_bJOgUhu4TcEC
https://dl.doubtnut.com/l/_rtNln3Ljo7xA


Answer: C

Watch Video Solution

6. First stable compound of inert gas was prepared by

A. Rayleigh and Ramsay

B. Bartlett

C. Frankland and Lockyer

D. Cavendish

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_rtNln3Ljo7xA
https://dl.doubtnut.com/l/_YNpzUHVJx7qK


7. The element which has not yet been reacted with  is

A. Ar

B. Xe

C. Kr

D. Rn

Answer: A

Watch Video Solution

F2

8. Which has the same electronic configuration as of inert

gas ?

A. Ag3 +

https://dl.doubtnut.com/l/_MBeOyWd4qX7a
https://dl.doubtnut.com/l/_CZjLaPrJev1N


B. 

C. 

D. 

Answer: D

Watch Video Solution

Cu2 +

Pb4 +

Ti4 +

9. The correct order of enthalpy of vaporisation of noble

gases is

A. 

B. 

C. 

D. 

Xe > Kr > ArNe > He

Xe > Ar > He > Ne > Kr

He > Ne > Kr > Ar > Xe

Ne > Xe > Kr > He > Ar

https://dl.doubtnut.com/l/_CZjLaPrJev1N
https://dl.doubtnut.com/l/_LlrvL7ExYtGX


Answer: A

Watch Video Solution

10. Which of the following exhibits the weakest

intermolecular forces?

A. 

B. 

C. He

D. HCl

Answer: C

Watch Video Solution

H2O

NH3

https://dl.doubtnut.com/l/_LlrvL7ExYtGX
https://dl.doubtnut.com/l/_qsvTcpm8Zo8X
https://dl.doubtnut.com/l/_qxRGzR0hbncn


11. Which of the following noble gas is the most polarized ?

A. Radon

B. Krypton

C. Xenon

D. Helium

Answer: C

Watch Video Solution

12. Which of the noble gases is the least polarized?

A. Radon

B. Krypton

https://dl.doubtnut.com/l/_qxRGzR0hbncn
https://dl.doubtnut.com/l/_vzWzA5uIcOsW


C. Xenon

D. Helium

Answer: D

Watch Video Solution

13. The reaction of Xe with an excess of  at high pressure

and 573 K yields

A. 

B. 

C. 

D. 

F2

XeF2

XeF4

XeF6

XeF3

https://dl.doubtnut.com/l/_vzWzA5uIcOsW
https://dl.doubtnut.com/l/_MBTmvmUT2qME


Answer: C

Watch Video Solution

14. The shape of  Ion is

A. Pentagonal

B. Octahedral

C. Square pyramidal

D. Trigonal bipyramidal

Answer: C

Watch Video Solution

XeF +
5

https://dl.doubtnut.com/l/_MBTmvmUT2qME
https://dl.doubtnut.com/l/_lh6CEp8QxIZ2


15. The number of  -bonds present in  and 

 respectively are

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(pπ − dπ) π XeO3

XeO4

3, 4

4, 2

2, 3

3, 2

16. The fluoride of Xenon with zero dipole moment is

A. XeF6

https://dl.doubtnut.com/l/_eWcniPFJsHPb
https://dl.doubtnut.com/l/_mqCBs6JRQ8r4


B. 

C. 

D. 

Answer: C

Watch Video Solution

XeO3

XeF4

XeO2F2

17.  contains

A. Eight bond pairs and no lone pairs at Xe

B. Three bond pairs and three lone pairs at Xe

C. Two bond pairs and six lone pairs at Xe

D. Four bond pairs and four lone pairs at Xe

XeO4 −
6

https://dl.doubtnut.com/l/_mqCBs6JRQ8r4
https://dl.doubtnut.com/l/_0e95gx8QBlD9


Answer: A

Watch Video Solution

18. How many lone pairs are associated with xenon in xenon

difluoride ?

A. 1

B. 2

C. 3

D. 4

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_0e95gx8QBlD9
https://dl.doubtnut.com/l/_NelJk7qGfiWi
https://dl.doubtnut.com/l/_QvvdmeQc09HV


Level Iii

19.  has

A. Three double bonded O-atoms

B. Trigonal pyramidal geometry

C. One lone pair and  hybridisation

D. All of these

Answer: D

Watch Video Solution

XeO3

sp3

1. When a radioactive substance is kept in a vessel, the

atmosphere around it is rich with

https://dl.doubtnut.com/l/_QvvdmeQc09HV
https://dl.doubtnut.com/l/_S8VabynPM4ow


A. Ne

B. Ar

C. Xe

D. He

Answer: D

Watch Video Solution

2. Which statement about noble gases is not correct ?

A. Xe forms 

B. Ar is used in electric bulbs

C. Kr is obtained during radioactive disintegration.

D. He has the lowest b.pt among all the noble gases

XeF6

https://dl.doubtnut.com/l/_S8VabynPM4ow
https://dl.doubtnut.com/l/_OQ81tFxn6pd1


Answer: C

Watch Video Solution

3. A radioactive element X decays to give two inert gases X is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

.238
92 U

.226
88 Ra

.14
6 C

.18
8 O

https://dl.doubtnut.com/l/_OQ81tFxn6pd1
https://dl.doubtnut.com/l/_xvyJVh7bWXDx


4. In order to prevent the hot metal filament from getting

burnt, when the electric current is switched on, the bulb is

filled with

A. 

B. An inert gas

C. 

D. 

Answer: B

Watch Video Solution

CH4

CO2

Cl2

5. The solubility of noble gases in water shows the order

https://dl.doubtnut.com/l/_vm2uEsjj2JhZ
https://dl.doubtnut.com/l/_o9uft0zSs1mI


A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

HegrAr > Kr > Ne > Xe

He > Ne > Ar > Kr > Xe

Xe > Kr > Ar > Ne > He

6. The ease of liquefaction of noble gases decreases in the

order

A. 

B. 

C. 

He > Ne > Ar > Kr > Xe

Xe > Kr > Ar > Ne > He

Kr > Xe > He > Ar > Ne

https://dl.doubtnut.com/l/_o9uft0zSs1mI
https://dl.doubtnut.com/l/_V3tp0CTadGqo


D. 

Answer: B

Watch Video Solution

Ar > Kr > Xe > He > Ne

7. The increasing d-character in hybridisation of Xe in

 is

A. 

B. 

C. 

D. 

Answer: A

W t h Vid S l ti

XeF2, XeF4, XeF6

XeF2 < XeF4 < XeF6

XeF4 < XeF2 < XeF6

XeF6 < XeF4 < XeF2

XeF2 < XeF6 < XeF4

https://dl.doubtnut.com/l/_V3tp0CTadGqo
https://dl.doubtnut.com/l/_EL5951RBJ4yY


Watch Video Solution

8. Which of the following is a superfluid ?

A. Krypton

B. Argon II

C. Helium III

D. Helium I

Answer: C

Watch Video Solution

9. Which of the following statements is correct ?

https://dl.doubtnut.com/l/_EL5951RBJ4yY
https://dl.doubtnut.com/l/_Z1jK0PK5irHM
https://dl.doubtnut.com/l/_eqV2JQTXPRAE


A. Helium-5 helium-3 are radioactive nuvlides with short

half-lives

B.  is obtained from the decay of 

C. Helium is the most abundant noble gas in the

atmosphere

D. Helium-4 has a low molecular viscosity and a large

mean free path

Answer: A

Watch Video Solution

.4
2 He .3

1 H

10. Which of the following two are isostructural ?

A. XeF2, lF −
2

https://dl.doubtnut.com/l/_eqV2JQTXPRAE
https://dl.doubtnut.com/l/_AZxmipmW2qTA


B. 

C. 

D. 

Answer: A

Watch Video Solution

NH3, BF3

NH2, BF2

PCl5, lCl5

11.  line observed in the yellow region of the sun's

spectrum is due to

A. Na

B. Ne

C. Kr

D. He

D3

https://dl.doubtnut.com/l/_AZxmipmW2qTA
https://dl.doubtnut.com/l/_Oey5THImBBG4


Answer: D

Watch Video Solution

12. The wrong statement among the following is

A. Helium is used to fill observatory balloons because it is

lighter than air and non-combustible

B. A mixture of  helium and  oxygen is used for

respiratation by deep sea divers.

C. The noble gas used in atomic reactors is argon for

cooling.

D. Neon is used in discharge tubes and fluorescent bulbs

for advertisement display purposes.

80 % 20 %

https://dl.doubtnut.com/l/_Oey5THImBBG4
https://dl.doubtnut.com/l/_TVTV56yy2GOy


Level Iv

Answer: D

Watch Video Solution

1. In the preparation of compounds of Xe, Bartlett has taken

 as a base compound. This is becase

A. both  and Xe have same size.

B. both  Xe have same electron gain enthalpy.

C. both  and Xe have almost same ionisation enthalpy.

D. both Xe and  are gases.

Answer: C

O+
2 PtF −

6

O2

O2

O2

O2

https://dl.doubtnut.com/l/_TVTV56yy2GOy
https://dl.doubtnut.com/l/_osSvMjIZPGlZ


Watch Video Solution

2. Which of the following statements are true ?

A. Only type of interactions between particles of noble

gases are due to weak dispersion forces.

B. Ionisation enthalpy of molecular oxygen is very close

to that of xenon.

C. Hydrolysis of  is a redox reaction.

D. Xenon fluorides are not reactive.

Answer: A::B

Watch Video Solution

XeF6

https://dl.doubtnut.com/l/_osSvMjIZPGlZ
https://dl.doubtnut.com/l/_yMKAxjVG5mKv
https://dl.doubtnut.com/l/_Z4AAg5wYYjaY


3. Which of the following statements(s) is/are true for 

?

A. Its partial hydrolysis gives .

B. Its reaction with silica give .

C. It is prepared by the reaction of  and .

D. Its reaction with  gives .

Answer: A::B::C::D

Watch Video Solution

XeF6

XeOF4

XeOF4

XeOF4 O2F2

XeO3 XeOF4

4. Match the compounds give in Column I with the

hybridisation an shape given in Column II and mark the

correct option. 

https://dl.doubtnut.com/l/_Z4AAg5wYYjaY
https://dl.doubtnut.com/l/_BuMHrwqe91Hk


 


Codes

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

A B C D

1 3 4 2

A B C D

1 2 4 3

A B C D

4 3 1 2

A B C D

4 1 2 3

https://dl.doubtnut.com/l/_BuMHrwqe91Hk


5. Match the items of Columns I and II and mark the correct

option. 

 


Codes

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A B C D

1 4 2 3

A B C D

1 2 3 4

A B C D

2 1 4 3

A B C D

1 3 2 4

https://dl.doubtnut.com/l/_P0V0jMzfaGgY


Level I H W

1. The valency is zero for

A. Neon

B. Fluorine

C. Oxygen

D. Carbon

Answer: A

Watch Video Solution

2. Oxidation state of zero group elements is

https://dl.doubtnut.com/l/_P0V0jMzfaGgY
https://dl.doubtnut.com/l/_0KyPRSPNxxty
https://dl.doubtnut.com/l/_SFDpdaFSTBZI


A. 

B. 

C. 0

D. 

Answer: C

Watch Video Solution

−1

+1

−2

3. The atomicity of neon gas is

A. Two

B. One

C. Four

D. Three

https://dl.doubtnut.com/l/_SFDpdaFSTBZI
https://dl.doubtnut.com/l/_ZIeOuOHAmeeW


Answer: B

Watch Video Solution

4. Which of the following gaseous molecules is monoatomic

?

A. Chlorine

B. Helium

C. Oxygen

D. Nitrogen.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_ZIeOuOHAmeeW
https://dl.doubtnut.com/l/_hA7nZdcNFpjv
https://dl.doubtnut.com/l/_abKyDGRY9Fjd


5. The number of electrons in the penultimate orbit of

krypton atom are

A. 8

B. 2

C. 18

D. 32

Answer: C

Watch Video Solution

6. Which one of the following noble gases is not found in

atmoshphere?

https://dl.doubtnut.com/l/_abKyDGRY9Fjd
https://dl.doubtnut.com/l/_O2yJNkICruz1


A. Rn

B. Kr

C. Ne

D. Ar

Answer: A

Watch Video Solution

7. The first noble gas compound prepared by Bartlett is

A. 

B. 

C. 

D. 

XeF2

KrF2

XePtF6

XeO3

https://dl.doubtnut.com/l/_O2yJNkICruz1
https://dl.doubtnut.com/l/_2I7b5wcS4AI1


Answer: C

Watch Video Solution

8. Number of unpaired electrons in inert gas is

A. Zero

B. 8

C. 4

D. 18

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_2I7b5wcS4AI1
https://dl.doubtnut.com/l/_HIx0aAMRG9xc


9. Helium is subjected to electrical discharge. The following

species is not present in the discharge tube

A. 

B. 

C. 

D. He

Answer: C

Watch Video Solution

He+

He+
2

He2

10. The spectrum of  is expected to be similar to that of

A. H

He

https://dl.doubtnut.com/l/_yGXi2kx00RZQ
https://dl.doubtnut.com/l/_HKafKSrMfoyj


B. Be

C. 

D. Ne

Answer: C

Watch Video Solution

Li+

11. The gas that gives superfluid on cooling at  is

A. Ar

B. Rn

C. Kr

D. He

2.2K

https://dl.doubtnut.com/l/_HKafKSrMfoyj
https://dl.doubtnut.com/l/_Feq1yVZtLHCC


Answer: D

Watch Video Solution

12. Viscosity is very low for

A. Ar

B. He(I)

C. He(II)

D. Kr

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Feq1yVZtLHCC
https://dl.doubtnut.com/l/_DMkyLKgH5gZV


13. Which of the following statement is not correct for a

noble gas ?

A. Argon is used to fill the incandescent bulbs

B. Krypton is obtained in nuclear fission.

C. Radon is present in the atmosphere

D. Xenon cannot from 

Answer: C

Watch Video Solution

XeF3

14. Inversion temperature of helium is very low. So when

helium is allowed to expand into vacuum it gets

https://dl.doubtnut.com/l/_81BvRvVGBsYm
https://dl.doubtnut.com/l/_G9dpY3r954S1


A. Cooled

B. Heated

C. Neither cooled, nor heated

D. Liquified

Answer: B

Watch Video Solution

15. Which of the following is a product in the explosion of

hydrogen bomb ?

A. Kr

B. Ne

C. He

https://dl.doubtnut.com/l/_G9dpY3r954S1
https://dl.doubtnut.com/l/_t2LaDRmqioHn


D. Xe

Answer: C

Watch Video Solution

16. The lightest, non-inflammable gas is

A. 

B. He

C. 

D. Ar

Answer: B

Watch Video Solution

H2

N2

https://dl.doubtnut.com/l/_t2LaDRmqioHn
https://dl.doubtnut.com/l/_ymB48g3xkF0n


17. Which of the following compound cannot be prepared ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

XeF2

XeF3

XeF4

XeF6

18. The shape of  molecule is

A. planar triangle

XeO3

https://dl.doubtnut.com/l/_ymB48g3xkF0n
https://dl.doubtnut.com/l/_a9VXEvHj7Aux
https://dl.doubtnut.com/l/_6NLHZQ6TBAf0


B. pyramid

C. linear

D. square planar

Answer: B

Watch Video Solution

19.  molecule is

A. Trigonal planar

B. Square planar

C. Linear

D. Pyramidal

XeF2

https://dl.doubtnut.com/l/_6NLHZQ6TBAf0
https://dl.doubtnut.com/l/_vkoVaetYMEQw


Answer: C

Watch Video Solution

20. If  gas is dissolved in the blood, it causes

A. Blindness

B. Headache

C. Bends

D. All

Answer: C

Watch Video Solution

N2

https://dl.doubtnut.com/l/_vkoVaetYMEQw
https://dl.doubtnut.com/l/_a2LZIWgvFjJ4


21. Sea divers go deep in the sea water with a mixture of

which of the following gases

A.  and He

B.  and Ar

C.  and 

D.  and Ar

Answer: A

Watch Video Solution

O2

O2

O2 CO2

CO2

22. Asthma patients use a mixture of …..for respiration

A.  and O2 H2

https://dl.doubtnut.com/l/_q5PihAsJf8jU
https://dl.doubtnut.com/l/_2uCRtgtF40ql


B.  and He

C.  and Ar

D.  and Ne

Answer: B

Watch Video Solution

O2

O2

O2

23. Shape of  is

A. Octahedral

B. Square pyramidal

C. Pyramidal

D. T-Shaped

XeOF4

https://dl.doubtnut.com/l/_2uCRtgtF40ql
https://dl.doubtnut.com/l/_9zZWWYsZSENa


Answer: B

Watch Video Solution

24. Hybridization and shape of  is

A. , trigonal bipyramidal

B. , tetrahedral

C. , square planar

D. , hexagonal

Answer: C

Watch Video Solution

XeF4

sp3d

sp3

sp3d2

sp3d2

https://dl.doubtnut.com/l/_9zZWWYsZSENa
https://dl.doubtnut.com/l/_KmH0OAFOxzPc


25. Which of the following is formed by xenon ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

XeF7

XeF4

XeF5

XeF3

26. The structure of  is

A. Square pyramidal

B. Trigonal pyramidal (see-sea)

XeO2F2

https://dl.doubtnut.com/l/_aUCYIx1fg8wI
https://dl.doubtnut.com/l/_H3a98Ceb6RRp


C. Octahedral

D. Tetrahedral

Answer: B

Watch Video Solution

27. Why He and Ne do not from compounds

A. Due to their higher ionization energies

B. Absence of empty d-orbitals in in their inner shells

C. Due to lower vander waal's force

D. Both and 1 and 2.

Answer: D

https://dl.doubtnut.com/l/_H3a98Ceb6RRp
https://dl.doubtnut.com/l/_FydCw7jhDeUz


Level Ii H W

Watch Video Solution

1. 1/125th part of nitrogen gas isolated from atmosphere did

not combine with any other substance due to

A. The chemical inert ness of  gas

B. The presence of Argon

C. The presence of Argon & other noble gases

D. The presence of .

Answer: C

Watch Video Solution

N2

O2

https://dl.doubtnut.com/l/_FydCw7jhDeUz
https://dl.doubtnut.com/l/_O6zKFWsecXr8


2. In solid argon , the atoms are held together by

A. Ionic bonds

B. Covalent bonds

C. Hydrogen bonds

D. Vanderwaal forces

Answer: D

Watch Video Solution

3. Liquid Helium at  and at 1 atm pressure flows in the

upward direction. It is because of its low

A. boiling point

2.2K

https://dl.doubtnut.com/l/_8So9pwP2ybyH
https://dl.doubtnut.com/l/_S3Nl9WYA4lGh


B. heat of vapourisation

C. viscosity

D. surface tension

Answer: C

Watch Video Solution

4. The noble gases which do not form any clatherate

A. He

B. Ar

C. Kr

D. Xe

https://dl.doubtnut.com/l/_S3Nl9WYA4lGh
https://dl.doubtnut.com/l/_PvU2Fu3XOSUl


Answer: A

Watch Video Solution

5. Which of the possible following florides of xenon is

impossible ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

XeF2

XeF3

XeF4

XeF6

https://dl.doubtnut.com/l/_PvU2Fu3XOSUl
https://dl.doubtnut.com/l/_IZKe7BX4RFbi
https://dl.doubtnut.com/l/_TEJ9tjzhR6ba


6. Which of the following fluorides of Xe has zero dipole

moment ?

A. 

B. 

C. 

D. Both (1) & (3)

Answer: D

Watch Video Solution

XeF2

XeF6

XeF4

7. Which of the following is formed when  reacts with

Xe ?

O2F2

https://dl.doubtnut.com/l/_TEJ9tjzhR6ba
https://dl.doubtnut.com/l/_WHu0ieEyxy9m


A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

XeF2

XeF4

XeF6

8. Which of the following noble gases do not reasct with

function

A. Xe

B. He

C. Ar

https://dl.doubtnut.com/l/_WHu0ieEyxy9m
https://dl.doubtnut.com/l/_GWBZQxoBFLQ2


D. Kr

Answer: D

Watch Video Solution

9. Helium mixed with oxygen is used in the treatment of

A. Beri beri

B. Burning feet

C. Joints burning

D. Asthma

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_GWBZQxoBFLQ2
https://dl.doubtnut.com/l/_nr2eWEFcYkDy


10. The compound in which the number of  bonds

are equal to those present in  -

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

dπ − pπ

ClO4

XeF4

XeO3

XeO4

XeF6

11. Which statement is false ?

https://dl.doubtnut.com/l/_nr2eWEFcYkDy
https://dl.doubtnut.com/l/_gjeMi8xf1KQx
https://dl.doubtnut.com/l/_hiNKOwAENBRB


Level V

A. 118th element is a noble gas called ununoctium

B. Helium is light noble gas

C. Xenon is the most reactive among the rare gases.

D. Noble gases Ne, Kr and Xe were discovered by Ramsay

and Rayleigh.

Answer: D

Watch Video Solution

1. Argon is used in arc welding because

A. low reactivity with metal

https://dl.doubtnut.com/l/_hiNKOwAENBRB
https://dl.doubtnut.com/l/_ZRAdzr2uR0Ut


B. ability to lower the melting point of metal

C. flammability

D. high calorific value

Answer: A

Watch Video Solution

2.  on hydrolysis (in the presence of alkali) yield :

A. 

B. 

C. 

D. Xe

XeF2

XeOF4

XeO3

XeO2F2

https://dl.doubtnut.com/l/_ZRAdzr2uR0Ut
https://dl.doubtnut.com/l/_3d6uIQ3vJg8j


Answer: D

Watch Video Solution

3.  can acts as

A. Fluoride donor only

B. Fluoride acceptor only

C. Either fluoride donor or acceptor

D. Catalyst in nuclear reactions

Answer: C

Watch Video Solution

XeF6

https://dl.doubtnut.com/l/_3d6uIQ3vJg8j
https://dl.doubtnut.com/l/_ZkPZL2KQNsGA


4. Xenon tetrafluoride,  is:

A. tetrahedral and acts as a fluoride donor with 

B. squareplanar and acts as a fluoride donor with 

C. Square planar and acts as fluoride donor with NaF

D. See-saw shape and acts as a fluoride donor with 

Answer: B

Watch Video Solution

XeF4

SbF5

PF5

AsF5

5.  on partial hydrolysis produces

A. 

B. 

XeF4

XeF2

XeOF2

https://dl.doubtnut.com/l/_RDlmSzZl25IZ
https://dl.doubtnut.com/l/_1v3V9Z7H4LJX


C. 

D. 

Answer: B

Watch Video Solution

XeOF4

XeO3

6. In  molecule, xenon undergoes

A.  hybridisation in its second excited state

B.  hybridisation in its second excited state

C.  hybridisation in its third excited state

D.  hybridisation in its fourth excited state

Answer: B

XeF4

sp3d

sp3d2

sp3d2

sp3d

https://dl.doubtnut.com/l/_1v3V9Z7H4LJX
https://dl.doubtnut.com/l/_OnBtB308ODqa


Watch Video Solution

7.  on complete hydroloysis gives

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

XeF6

XeO4

XeOF2

XeOF4

XeO3

8. Which of the following compound will not form during

the hydrolysis of  ?XeF6

https://dl.doubtnut.com/l/_OnBtB308ODqa
https://dl.doubtnut.com/l/_OIyoPcODSasX
https://dl.doubtnut.com/l/_XE9cosimxp8F


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

XeO3

XeO4

XeOF4

XeO2F2

9. The nature of  - bonds in  :

A. two  and one 

B. one  and two 

C. three 

D. three 

π XeO3

(pπ − pπ) (pπ − dπ)

(pπ − pπ) (pπ − dπ)

(pπ − dπ)

(pπ − pπ)

https://dl.doubtnut.com/l/_XE9cosimxp8F
https://dl.doubtnut.com/l/_u6UVdUJK6RzW


Answer: C

Watch Video Solution

10.  contains :

A. four  - bonds, and the remaining three electron pairs

form a pyramid

B. three  - bonds, and the remaining four electron pairs

form square planar sructure

C. three  - bonds, and the remaining five electron pairs

form a trigonal bipyramid

D. four  - bonds, and the remaining four electron pairs

form a tetrahedron

XeO4

π

π

π

π

https://dl.doubtnut.com/l/_u6UVdUJK6RzW
https://dl.doubtnut.com/l/_WPTnr4fBjT6n


Answer: D

Watch Video Solution

11. When  donates its fluoride to , then the states

of hybridization of central atoms of cationic part and

anionic part of the product formed are :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

XeF4 SbF5

sp3d, sp3

sp3d2, sp3d2

sp3d, sp3d

sp3d, sp3d2

https://dl.doubtnut.com/l/_WPTnr4fBjT6n
https://dl.doubtnut.com/l/_YRkbqGB9ADbW


12. Which of the following compound is formed when 

react with water ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

XeF4

XeO3

XeO4

XeOF4

XeO2F2

13. Which of the following statement is wrong ?

https://dl.doubtnut.com/l/_YRkbqGB9ADbW
https://dl.doubtnut.com/l/_DIfNSyIo8VVL
https://dl.doubtnut.com/l/_ypj3JV13KLUH


A. Only type of interaction between particle of noble

gases are due to weak disperion forces

B. Ionisation energy of molecular oxygen is very close to

that of Xe

C. Hydrolysis of  is a redox reaction.

D. Hydrolysis of  is a redox reaction.

Answer: C

Watch Video Solution

XeF6

XeF4

14. Which one of the following reaction of xenon

compounds is not Feasible?

A. XeO3 + HF → XeF6 + H2O

https://dl.doubtnut.com/l/_ypj3JV13KLUH
https://dl.doubtnut.com/l/_g9LOCBkE42Yo


B. 

C. 

D. 

Answer: A

Watch Video Solution

XeF4 + H2O → Xe + XeO3 + HF + O2

XeF2 + H2O → Xe + HF + O2

XeF6 + RbF → Rb+ [XeF7] −

15. The hydrolysis of  takes place in the following steps

: . Then the correct statement

regarding A and B is :

A. In both A and B, Xe is in  hybridised state

B. A contains two  - bonds, and the remaining five

electron pairs form a trigonal bipyramidal with one

XeF6

XeF6 → A → B → XeO3

sp3d

π

https://dl.doubtnut.com/l/_g9LOCBkE42Yo
https://dl.doubtnut.com/l/_WJwPku1Xkqi2


equatorial position occupied by a lone pair

C. B contains one  -bond, and the remaining six

electron pairs forming an octahedron with one

position occupied by a lone pair

D. A is also obtained when  reacts with silica

Answer: D

Watch Video Solution

π

XeF6

16. Which of the following statement(s) is/are correct ?

A. The most abundant noble gas found in atmosphere is

Helium

B.  attacks Pyrex glassXeF6

https://dl.doubtnut.com/l/_WJwPku1Xkqi2
https://dl.doubtnut.com/l/_KcB8B41ZyM1b


C.  has square planar structure

D. Noble gases are paramagnetic in nature

Answer: B::C

Watch Video Solution

XeF4

17. Which of the following are correctly matched ?

A.  : see saw shape

B.  : octahedral shape

C.  : distorted octahedral shape

D.  : Pyramidal shape

Answer: C::D

XeO2F2

XeOF4

XeF6

XeO3

https://dl.doubtnut.com/l/_KcB8B41ZyM1b
https://dl.doubtnut.com/l/_zz1M4fXVSy4L


Watch Video Solution

18.  on hydrolysis gives

A. 

B. 

C. 

D. 

Answer: A::B::C

Watch Video Solution

XeF6

XeOF4

XeO2F2

XeO3

XeO4

19. White crystalline solid (A) reacts with  to form a highly

associated liquid (B) and a monoatomic , colourless gas (C ).

H2

https://dl.doubtnut.com/l/_zz1M4fXVSy4L
https://dl.doubtnut.com/l/_jN3askEQSem4
https://dl.doubtnut.com/l/_TSpAgsL9xmnl


The liquid (B) is used for etching glass. Compound (A)

undergoes hydrolysis slowly to form (C ), (B) and a diatomic

gas (D ) whose IE is almost similar to that of (C ). (B) forms

an addition compound with KF to form (E) which is

electrolysed in the molten state to form a most reactive gas

(F) which combines with (C ) in 2:1 ratio of produce (A). 

Which of the following is correct for the white crystalline

solid (A) ?

A. linear, sp

B. triangular, 

C. linear, 

D. V - shape, 

Answer: C

Watch Video Solution

sp2

sp3d

sp3

https://dl.doubtnut.com/l/_TSpAgsL9xmnl


20. White crystalline solid (A) reacts with  to form a

highly associated liquid (B) and a monoatomic , colourless

gas (C ). The liquid (B) is used for etching glass. Compound

(A) undergoes hydrolysis slowly to form (C ), (B) and a

diatomic gas (D ) whose IE is almost similar to that of (C ).

(B) forms an addition compound with KF to form (E) which is

electrolysed in the molten state to form a most reactive gas

(F) which combines with (C ) in 2:1 ratio of produce (A). 

According to Molecular Orbital Theory, which of the

following is correct about the molecule (D) ?

A. only ionic bonds

B. only ionic and covalent bonds

C. ionic, covalent and metallic bonds

H2

https://dl.doubtnut.com/l/_TSpAgsL9xmnl
https://dl.doubtnut.com/l/_nuPVWWzwkAOJ


D. ionic, covalent and Hydrogen bonds

Answer: D

Watch Video Solution

21. White crystalline solid (A) reacts with  to form a highly

associated liquid (B) and a monoatomic , colourless gas (C ).

The liquid (B) is used for etching glass. Compound (A)

undergoes hydrolysis slowly to form (C ), (B) and a diatomic

gas (D ) whose IE is almost similar to that of (C ). (B) forms

an addition compound with KF to form (E) which is

electrolysed in the molten state to form a most reactive gas

(F) which combines with (C ) in 2:1 ratio of produce (A). 

According to Molecular Orbital Theory, which of the

following is correct about the molecule (D) ?

H2

https://dl.doubtnut.com/l/_nuPVWWzwkAOJ
https://dl.doubtnut.com/l/_WtrESDqyFJAn


A. Its bond order is 2

B. It has two unpaired electrons in  molecular orbital

C. It is diamagnetic

D. It has only unpaired electron in  molecular orbital.

Answer: A

Watch Video Solution

σ

π

22. Among noble gases, Xe is quite reactive and form a

number of fluorides and oxyfluorides. In these compounds

the electrons, from 5p orbitals are excited to 5d orbitals. The

predicted shapes of xenon fluorides are linear, square planar

and distorted octahedron. The shapes of xeon oxyfluorides

https://dl.doubtnut.com/l/_WtrESDqyFJAn
https://dl.doubtnut.com/l/_scwK9SEVO7BW


can be prodicted by VSEPR theory. 

 on alkaline hydrolysis yields

A. 

B. 

C. 

D. Xe

Answer: D

Watch Video Solution

XeF2

XeOF2

XeO2

XeO2F2

23. Among noble gases, Xe is quite reactive and form a

number of fluorides and oxyfluorides. In these compounds

the electrons, from 5p orbitals are excited to 5d orbitals. The

predicted shapes of xenon fluorides are linear, square planar

https://dl.doubtnut.com/l/_scwK9SEVO7BW
https://dl.doubtnut.com/l/_4xbnvXnCvwPr


and distorted octahedron. The shapes of xeon oxyfluorides

can be prodicted by VSEPR theory. 

A. linear  and pyramidal 

B. bent  and pyramidal 

C. bent  and pyramidal 

D. linear  and tetraheddral 

Answer: A

Watch Video Solution

XeF2 XeO3

XeF2 XeO3

XeF2 XeO3

XeF2 XeO3

24. Among noble gases, Xe is quite reactive and form a

number of fluorides and oxyfluorides. In these compounds

the electrons, from 5p orbitals are excited to 5d orbitals. The

predicted shapes of xenon fluorides are linear, square planar

https://dl.doubtnut.com/l/_4xbnvXnCvwPr
https://dl.doubtnut.com/l/_TyuDmb8W3hzN


and distorted octahedron. The shapes of xeon oxyfluorides

can be prodicted by VSEPR theory. 

A. tetrahedral

B. Square pyramid

C. square planar

D. octahedral

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_TyuDmb8W3hzN


25. Match the following : 

Watch Video Solution

26. Which one of the following does not exist ? 

.

Watch Video Solution

(i)XeOF4(ii)NeF2(iii)XeF2(iv)XeF6

27. Assertion :  cannot be stored in the dry glass

bottles 

XeF6

https://dl.doubtnut.com/l/_9lvnH4Uu8APJ
https://dl.doubtnut.com/l/_nNOAEn1SGJJV
https://dl.doubtnut.com/l/_Uxy0JWdoIEt9


Reason :  attacks the glass

Watch Video Solution

XeF6

28. The number of  bonds in  is :

Watch Video Solution

(pπ − pπ) XeO4

29. The number of  bonds in perxenate ion is :

Watch Video Solution

π

30. In  number of lone pairs on cetral atom is 'a' and

number of bond pairs around central atom is 'b'. What is

'b/a' ?

XeOF2

https://dl.doubtnut.com/l/_Uxy0JWdoIEt9
https://dl.doubtnut.com/l/_M2mT7JXJj6aT
https://dl.doubtnut.com/l/_m91oYxvIbP93
https://dl.doubtnut.com/l/_gVOK0EuLcq0G


Level Vi

Watch Video Solution

31.  reacts with silica to form xenon compound X. The

oxidation state of Xe in X is :

Watch Video Solution

XeF6

32. In argon, find the numer of electrons with spin value

Watch Video Solution

+
1

2

https://dl.doubtnut.com/l/_gVOK0EuLcq0G
https://dl.doubtnut.com/l/_GonNQxzZrZg7
https://dl.doubtnut.com/l/_gov7S6LBWvhe


1. The xenon compounds that are isostructural with 

and  respectively are:

A. Linear  and pyramidal 

B. Bent  and pyramidal 

C. bent  and planar 

D. linear  and tetrahedral 

Answer: A

Watch Video Solution

IBr−
2

BrO−
3

XeF2 XeO3

XeF2 XeO3

XeF2 XeO3

XeF2 XeO3

2. Which of the following relations is correct

A. 

https://dl.doubtnut.com/l/_ve5M7ACgAsA9
https://dl.doubtnut.com/l/_SblV8UWTGiRN


B. 

C. 

D. all are correct

Answer: B

Watch Video Solution

3. Which of the following xenon compound has the same

number of lone pairs as in ? (near central atom)

A. 

B. 

C. 

D. 

I −
3

XeF2

XeO3

XeF4

XeO4

https://dl.doubtnut.com/l/_SblV8UWTGiRN
https://dl.doubtnut.com/l/_RRqNbSVn1zPb


Answer: A

Watch Video Solution

4.  alkali metal cation) The

state of hybridisation of the central atom in A and sphere of

the species are:

A. 

B. , distored octahedral

C. , pentagonal planar

D. no compound formed at all

Answer: C

Watch Video Solution

Mf + XeF4 → M +A− (M + −

sp3d, TBP

sp6(3)d3

sp3d3

https://dl.doubtnut.com/l/_RRqNbSVn1zPb
https://dl.doubtnut.com/l/_16g4meQ7frNc


5.  dissolves in anhydrous  to give a good

conducting solution which contains:

A.  and 

B.  and  ions

C.  and  ions

D. none of these

Answer: B

Watch Video Solution

XeF6 HF

H + XeF
−

7

HF −
2 XeF +

5

HXeF +
6 F −

6. What are the products formed in the reaction of xenon

hexafluoride with silicon dioxide?

https://dl.doubtnut.com/l/_16g4meQ7frNc
https://dl.doubtnut.com/l/_XUKnZ5B7Pcfd
https://dl.doubtnut.com/l/_aIOKQJhGmANR


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

XeSiO4 + HF

XeF2 + SiF4

XeO2F2 + SiF4

XeO3 + SiF4

7. , then A is

A. 

B. 

C. 

D. 

XeF2 + H2O
alkali
−−→ A + HF + O2

XeO3

XeO4

XeO2F2

Xe

https://dl.doubtnut.com/l/_aIOKQJhGmANR
https://dl.doubtnut.com/l/_fi27u4h356Fm


Answer: D

Watch Video Solution

8.  on reaction with CsF gives:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

XeF6

Cs[XeF7]

[XeF4][CsF3]

XeF8

[XeF5][CsF2]

https://dl.doubtnut.com/l/_fi27u4h356Fm
https://dl.doubtnut.com/l/_9myEzQU1krrl


9.  forms xenate ion in alkaline medium. 

 


But the xenate ions slowly disproportionate in alkaline

solution as 

 The

compound Z is expected to be:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

XeO3

XeO3 + NaOH → Na[HXeO4]

Na[HXeO4] + NaOH → Z + Xe + O2 + H2O

Na2XeO3

Na2XeO4

Na4XeO6

Na4XeO4

https://dl.doubtnut.com/l/_Zfg5cw5qDqbY


10. When  vapour mixed with an equal volume of Xe,

the gases combined immediatedly at room temperature and

produces a yellow solid X at , the X is correcty

represented as :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

PtE6

66∘C

Xe+ [PtF6] −

Xe+
2 [PtF6] −

O+
2 [PtF6] −

[XeF ] + [Pt2F11] −

https://dl.doubtnut.com/l/_q77QBSADmZlQ


11.  


Compound (A) is

A. II and III only

B. I,II and IV only

C. III and IV only

D. I,II,III and IV

Answer: B

Watch Video Solution

(A) + SbF5 → [XeF3] + [SbF6] −

12. Xenon hexa fluoride reacts with potassium fluoride to

yield

https://dl.doubtnut.com/l/_83DzrW6jbb09
https://dl.doubtnut.com/l/_KCsy4Xne9dUr


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

[XeF4]2 + [KF3]2 −

K + [XeF7] −

[XeF5] + [KF2] −

XeF4

13. Total number of lone pairs on Xe in

 is t,u,v & w respectively. Then

A. 

B. 

C. 

XeF2, XeO3F2, XeF4, XeF6

t + u = 3

v + w = 3

u = 0

https://dl.doubtnut.com/l/_KCsy4Xne9dUr
https://dl.doubtnut.com/l/_yd0uQUikEG8q


D. 

Answer: A::B::C::D

Watch Video Solution

w = 1

14. Which is/are hydrolysed by water ?

A. 

B. 

C. 

D. 

Answer: A::B::C::D

Watch Video Solution

XeF2

XeF4

XeF6

XeOF4

https://dl.doubtnut.com/l/_yd0uQUikEG8q
https://dl.doubtnut.com/l/_dObJIGWHysyh


15. Which of the following pairs of Xenon compounds and

their structure, hybridisation are correctly matched ?

A. -square planar 

B.  square pyramidal 

C.  tetrahedral 

D.  octanedral 

Answer: A::B::C::D

Watch Video Solution

XeF4 (sp3d2)

XeOF4 − (sp3d2)

XeO4 − (sp3)

[XeO6]4 − (sp3d2)

16. Thermal decomposition product(s) of  are:XeF2

https://dl.doubtnut.com/l/_dObJIGWHysyh
https://dl.doubtnut.com/l/_2mpCxxw6iXzs
https://dl.doubtnut.com/l/_FEOuYyqqCMGk


A. 

B. 

C. 

D. 

Answer: B::C::D

Watch Video Solution

Xe

XeF2

XeF4

F2

17. In  and  the oxidation state of  is

A.  to 

B.  to 

C.  to 

D.  to 

XeO3 XeF6 Xe

sp3d2 sp3d

sp3d3 sp3

sp3d3 sp3d2

sp3d3 sp3d

https://dl.doubtnut.com/l/_FEOuYyqqCMGk
https://dl.doubtnut.com/l/_kDBPRhNBafKZ


Answer: C::D

Watch Video Solution

18. Asseration: The first real compound of the noble gases in

. 


Reason: The discovery was based on the basis of comparable

ionisation energy of  and  and a compound 

 was prepared by Bartlett which was later on

reported to be .

A. tetrahedral

B. pyramidal

C. octahedral

D. angular

1962wasXe+ [PtF6] −

O2 Xe

O+
2 [PtF6] −

[XeF ] + [Pt2F11] −

https://dl.doubtnut.com/l/_kDBPRhNBafKZ
https://dl.doubtnut.com/l/_xJOD2w1Jhzfw


Answer: B

Watch Video Solution

19. Asseration: The first real compound of the noble gases in

. 


Reason: The discovery was based on the basis of comparable

ionisation energy of  and  and a compound 

 was prepared by Bartlett which was later on

reported to be .

A. 

B. 

C. 

D. 

1962wasXe+ [PtF6] −

O2 Xe

O+
2 [PtF6] −

[XeF ] + [Pt2F11] −

A > B

A < B

A ≠ B = 90∘

A = B = 90∘

https://dl.doubtnut.com/l/_xJOD2w1Jhzfw
https://dl.doubtnut.com/l/_6U6N81BXXtfj


Answer: B

Watch Video Solution

20. The noble gases have closed-shell electronic

cordigaration and are monatomic gases under normal

condition .The low bolling points of the ligher noble gases

aree due to the weak dispersion points of the ligher noble

gases an due to the weak dispersion forces between the

atoms and the alsence of other interalumic interactions.

The direct reaction of xenon with flarine loads to a series of

compounds with water oxidation number

 reactsviolenatly with water to

give  .The compound of deduced axbibt nci

strouchemistry and their goometries can be deduced

+2, − 4 and + 6, XeF4

XeO2

https://dl.doubtnut.com/l/_6U6N81BXXtfj
https://dl.doubtnut.com/l/_2ZSFPMK7hNLa


considering the total number of electron puirs in the

valence shell.

Argon is used in arc welding because of its

A. low reactivity with metal

B. ability to lower the melting point of metal

C. flammability

D. high calorific value

Answer: A

Watch Video Solution

21. The noble gases have closed-shell electronic

cordigaration and are monatomic gases under normal

condition .The low bolling points of the ligher noble gases

https://dl.doubtnut.com/l/_2ZSFPMK7hNLa
https://dl.doubtnut.com/l/_dgQtjqjWAGfM


aree due to the weak dispersion points of the ligher noble

gases an due to the weak dispersion forces between the

atoms and the alsence of other interalumic interactions.

The direct reaction of xenon with flarine loads to a series of

compounds with water oxidation number

 reactsviolenatly with water to

give  .The compound of deduced axbibt nci

strouchemistry and their goometries can be deduced

considering the total number of electron puirs in the

valence shell.

The structure of  is

A. linear

B. planar

C. pyramidal

D. T-shaped

+2, − 4 and + 6, XeF4

XeO2

XeO3

https://dl.doubtnut.com/l/_dgQtjqjWAGfM


Answer: C

Watch Video Solution

22. The noble gases have closed-shell electronic

configuration and are monoatomic gases under normal

conditions. The low boiling points of the lighter noble gases

are due to weak dispersion forces between the atoms and

the absence of other Interatomic Interactions. 

The direct reaction of xenon with fluorine leads to a series

of compounds with oxidation numbers +2,+4 and +6. 

reacts violently with water to give  The compound of

xenon exhibit rich stereochemistry and their geometries can

be deduced considering the total number of electron pairs

XeF4

XeO3

https://dl.doubtnut.com/l/_dgQtjqjWAGfM
https://dl.doubtnut.com/l/_2m5774PSlyKV


in the valence shell. 

 and  are expected to be:

A. oxidising

B. reducing

C. unreactive

D. strongly basic

Answer: A

Watch Video Solution

XeF4 XeF6

23. The chemical reactivity of noble gases involves the loss

of electrons and hence it can form compounds with highly

electronegative elements like F and O. Although Xe forms

several fluorides, xenone tetrafluoride is the most important

https://dl.doubtnut.com/l/_2m5774PSlyKV
https://dl.doubtnut.com/l/_DWgsEd4qxRQS


among fluorides. The various compounds of xenon involve

xenon in first, second or third excited states. 

The type of hybridisation and shape of  respectively

are

A. zero

B. 2

C. 6

D. 8

Answer: C

Watch Video Solution

XeF2

24. The chemical reactivity of noble gases involves the loss

of electrons and hence it can form compounds with highly

https://dl.doubtnut.com/l/_DWgsEd4qxRQS
https://dl.doubtnut.com/l/_diMGgt8W8Kfc


electronegative elements like F and O. Although Xe forms

several fluorides, xenone tetrafluoride is the most important

among fluorides. The various compounds of xenon involve

xenon in first, second or third excited states. 

The type of hybridisation and number of lone pair (s) of

electrons on Xe in  respectively are

A.  & 1

B.  & 2

C.  & 1

D.  & 2

Answer: B

Watch Video Solution

XeOF2

sp3d

sp3d

sp3d2

sp3d2

https://dl.doubtnut.com/l/_diMGgt8W8Kfc
https://dl.doubtnut.com/l/_aZ1m40WyrCKy


25. The chemical reactivity of noble gases involves the loss

of electrons and hence it can form compounds with highly

electronegative elements like F and O. Although Xe forms

several fluorides, xenone tetrafluoride is the most important

among fluorides. The various compounds of xenon involve

xenon in first, second or third excited states. 

The type of hybridisation and shape of  respectively

are

A.  and angular

B.  and pyramidal

C.  and linear

D.  and linear

Answer: C

Watch Video Solution

XeF2

sp3d

sp3d

sp3d

sp

https://dl.doubtnut.com/l/_aZ1m40WyrCKy


26. If the electron pair forming a bond between two atoms

and B is not in the center then the bond is ?

A. 

B. 

C. 

D. 

Answer: A::B::C::D

Watch Video Solution

XeF6

XeO3F2

XeO4

Ba2[XeO6]4 −

https://dl.doubtnut.com/l/_aZ1m40WyrCKy
https://dl.doubtnut.com/l/_gpNyQAiHAA4g


27. Match the following : 

Watch Video Solution

28.  dissolves in HF according to the reaction 

. What is the value of

n?

Watch Video Solution

XeFn

xeFn + HF → [XeFn− 1] + [HF2] −

29. Number of lone pair of electrons in  is

W h Vid S l i

XeF4

https://dl.doubtnut.com/l/_87oLBCrjnVx1
https://dl.doubtnut.com/l/_bA8RWz9fznoI
https://dl.doubtnut.com/l/_FqId6H2d0Ppn


Watch Video Solution

30. Consider following compounds A to E : 

(A) 

(E ) , 


If value of n is 4, then calculate value of  here, 'p' is

total number of bond pair and 'q' is total number of lone

pair on central atoms of compounds (A) to (E ).

Watch Video Solution

XeFn    (B)XeF +
( n+ 1 )

   (C)XeF −
( n+ 1 )

     (D)XeF ( n+ 2 )

XeF 2 −
( n+ 4 )

p ÷ q

31. Find the number of unpaired electron in the fully excited

xenon atom.

Watch Video Solution

https://dl.doubtnut.com/l/_FqId6H2d0Ppn
https://dl.doubtnut.com/l/_IRVPSCCuWHfo
https://dl.doubtnut.com/l/_oBLbG1cLAANU


32. Give the molecular structures of : 

 


Watch Video Solution

XeF2, XeF4, XeF6

XeOF4  and XeO3

33. Find the number of compounds among the following

whose hydrolysis is a non-redox reaction.

Watch Video Solution

XeF2, XeF4, XeF6, XeO2F2, XeOF4, Xe, XeO3

https://dl.doubtnut.com/l/_oBLbG1cLAANU
https://dl.doubtnut.com/l/_Lg0sLHVNRrg8
https://dl.doubtnut.com/l/_JM0eo4XMTB9N


W E

34.  


The summation of total no. of lone pairs and  bonds in in

species (A,B and C) is

Watch Video Solution

σ

1. The s-block element present in zerogroup is _______.

Watch Video Solution

https://dl.doubtnut.com/l/_OuHcEQg3PITD
https://dl.doubtnut.com/l/_r2vffnuumefT


2. The most appropriate name for zerogroup elements is

_________.

Watch Video Solution

3. Why Helium is totally inert ?

Watch Video Solution

4. Liquid Helium is called superfuluid. Why ?

Watch Video Solution

5. Which inert gas obtained from monazite sand ?

https://dl.doubtnut.com/l/_axVW9XcR9jbs
https://dl.doubtnut.com/l/_vxQN7PAcICRf
https://dl.doubtnut.com/l/_rzZkr4Ho7kUm
https://dl.doubtnut.com/l/_fBNcfOsZ5ZEr


Watch Video Solution

6. Name the Fluoride of Xenon which undergoes thermal

decomposiotion ?

Watch Video Solution

7. Xenon has closed shell configuration but is known to give

compounds with fluorine because

Watch Video Solution

8. Why neon is used in warning signal illuminations?

Watch Video Solution

https://dl.doubtnut.com/l/_fBNcfOsZ5ZEr
https://dl.doubtnut.com/l/_ovR1kPs6VXDx
https://dl.doubtnut.com/l/_COsRvhLbH04B
https://dl.doubtnut.com/l/_8O59bZ0pBB1D


9. Assertion: A mixture of  is used for respiration

for deep sea divers. 

Reason:  is soluble in blood.

Watch Video Solution

He and O2

He

10. Answer the following with relevant reasons . 

(i) The boiling of noble gases increase with increase in

atomic number . 

(ii) Why helium and neon do not from clathrate compounds

with quinol ?

Watch Video Solution

https://dl.doubtnut.com/l/_8O59bZ0pBB1D
https://dl.doubtnut.com/l/_7rEJSWLz9QLG
https://dl.doubtnut.com/l/_AoN9eMB7Yfzw


11. The s-block element present in zerogroup is _______.

Watch Video Solution

12. The most appropriate name for zerogroup elements is

_________.

Watch Video Solution

13. Why Helium is totally inert ?

Watch Video Solution

14. Liquid Helium is called superfuluid. Why ?

https://dl.doubtnut.com/l/_t0mQ6ybb2iLD
https://dl.doubtnut.com/l/_gdvzcof4FxYI
https://dl.doubtnut.com/l/_0FZl4XWom729
https://dl.doubtnut.com/l/_axZdJUOS4j0p


Watch Video Solution

15. Which inert gas obtained from monazite sand ?

Watch Video Solution

16. Name the Fluoride of Xenon which undergoes thermal

decomposiotion ?

Watch Video Solution

17. Xenon has closed shell configuration but is known to give

compounds with fluorine because

Watch Video Solution

https://dl.doubtnut.com/l/_axZdJUOS4j0p
https://dl.doubtnut.com/l/_v49mNS0DlamP
https://dl.doubtnut.com/l/_VZp1XRfsGFRY
https://dl.doubtnut.com/l/_38AzzN1VBTJE


18. Why neon is used in warning signal illuminations?

Watch Video Solution

19. Assertion: A mixture of  is used for

respiration for deep sea divers. 

Reason:  is soluble in blood.

Watch Video Solution

He and O2

He

20. CLATHRATE COMPOUNDS

Watch Video Solution

https://dl.doubtnut.com/l/_38AzzN1VBTJE
https://dl.doubtnut.com/l/_rLTdcb0O9lTI
https://dl.doubtnut.com/l/_JPG7qbVqgMRQ
https://dl.doubtnut.com/l/_UH6S5Xiik3z8


Evaluate Your Self I

1. The inert gas abundantly found in atmosphere is:

A. Ar

B. Kr

C. He

D. Xe

Answer: A

Watch Video Solution

2. The coloured discharge tubes for advertisement mainly

contains

https://dl.doubtnut.com/l/_Rpvt6ga9Xrz0
https://dl.doubtnut.com/l/_yEZqh6tzbaUi


A. xenon

B. helium

C. neon

D. argon

Answer: C

Watch Video Solution

3. Helium is added to oxygen used by deep sea divers

because :

A. it is less soluble in blood than nitrogen under high

pressure

B. it is lighter than nitrogen

https://dl.doubtnut.com/l/_yEZqh6tzbaUi
https://dl.doubtnut.com/l/_nHJXOJHGJGli


C. it is readily miscible with oxygen

D. it is less poisonous than nitrogen

Answer: A

Watch Video Solution

4. The inert gas abundantly found in atmosphere is:

A. Ar

B. Kr

C. He

D. Xe

Answer: A

https://dl.doubtnut.com/l/_nHJXOJHGJGli
https://dl.doubtnut.com/l/_LgBxSBmntdIJ


Watch Video Solution

5. The coloured discharge tubes for advertisement mainly

contains

A. xenon

B. helium

C. neon

D. argon

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_LgBxSBmntdIJ
https://dl.doubtnut.com/l/_BahvKa7B1iee


Evaluate Your Self Ii

6. Helium is added to oxygen used by deep sea divers

because :

A. it is less soluble in blood than nitrogen under high

pressure

B. it is lighter than nitrogen

C. it is readily miscible with oxygen

D. it is less poisonous than nitrogen

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_bBTA9HhUlNFY
https://dl.doubtnut.com/l/_I5zrciyonXBC


1. Number of lone pair of electrons in  is

A. 2

B. 10

C. 12

D. 14

Answer: D

Watch Video Solution

XeF4

2. The structure of  is

A. 

B. 

XeO2F2

1: 1

2: 1

https://dl.doubtnut.com/l/_I5zrciyonXBC
https://dl.doubtnut.com/l/_pheZ8nAFX8je


C. 

D. 

Answer: B

Watch Video Solution

1: 2

1: 4

3. The shape of  molecule is

A. trigonal bi pyramid

B. octahydral

C. squre pyramid

D. squre planner

Answer: C

XeF4

https://dl.doubtnut.com/l/_pheZ8nAFX8je
https://dl.doubtnut.com/l/_0bcx40uPQlGr


Watch Video Solution

4. Number of lone pair of electrons in  is

A. 2

B. 10

C. 12

D. 14

Answer: D

Watch Video Solution

XeF4

5. The number of s and p bonds in  molecule areXeO3

https://dl.doubtnut.com/l/_0bcx40uPQlGr
https://dl.doubtnut.com/l/_MhUwpbqU85UA
https://dl.doubtnut.com/l/_exmI76z8m3Zs


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1: 1

2: 1

1: 2

1: 4

6. The shape of  molecule is

A. trigonal bi pyramid

B. octahydral

C. squre pyramid

D. squre planner

XeF4

https://dl.doubtnut.com/l/_exmI76z8m3Zs
https://dl.doubtnut.com/l/_t3g2glfAFF6q


C U Q Electronic Configuration Discover Occurrence

Answer: C

Watch Video Solution

1. Noble gases are also known as

A. chalcogens

B. halogens

C. aerogens

D. transition elements

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_t3g2glfAFF6q
https://dl.doubtnut.com/l/_ayRZ7HHkKU1M


2. The valence shell electronic configuration of noble gases

except helium is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ns2np4

ns2np1

ns2np6

ns2np6nd10

3. The atomicity of noble gases is

https://dl.doubtnut.com/l/_ayRZ7HHkKU1M
https://dl.doubtnut.com/l/_IXj604GiPBfS
https://dl.doubtnut.com/l/_8kVlW84gNjJl


A. two

B. one

C. six

D. four

Answer: B

Watch Video Solution

4. The most abundant noble gas in the atmosphere is

A. argon

B. neon

C. helium

D. krypton

https://dl.doubtnut.com/l/_8kVlW84gNjJl
https://dl.doubtnut.com/l/_NkIdndqqBKC7


Answer: A

Watch Video Solution

5. The least abundant inert gas in the atmosphere is by

volume

A. ne

B. he

C. ar

D. xe

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_NkIdndqqBKC7
https://dl.doubtnut.com/l/_Np8CBeaxnivU
https://dl.doubtnut.com/l/_0xnnUWlRWJU0


6. Which of the following inert gas is available only as a

product in the radioactive disintegrations ?

A. he

B. ar

C. rn

D. kr

Answer: C

Watch Video Solution

7. Noble gases are also known as

A. chalcogens

https://dl.doubtnut.com/l/_0xnnUWlRWJU0
https://dl.doubtnut.com/l/_P73OhOl0aeJW


B. halogens

C. aerogens

D. transition elements

Answer: C

Watch Video Solution

8. The valence shell electronic configuration of noble gases

except helium is

A. 

B. 

C. 

D. 

ns2np4

ns2np1

ns2np6

ns2np6nd10

https://dl.doubtnut.com/l/_P73OhOl0aeJW
https://dl.doubtnut.com/l/_Hsv90WmTeKfH


Answer: C

Watch Video Solution

9. The atomicity of noble gases is

A. two

B. one

C. six

D. four

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Hsv90WmTeKfH
https://dl.doubtnut.com/l/_q1183CRSSEQv


10. The most abundant noble gas in the atmosphere is

A. argon

B. neon

C. helium

D. krypton

Answer: A

Watch Video Solution

11. The least abundant inert gas in the atmosphere is by

volume

A. ne

https://dl.doubtnut.com/l/_I9DhYkSaUnWW
https://dl.doubtnut.com/l/_3I5IF4d45G3t


B. he

C. ar

D. xe

Answer: D

Watch Video Solution

12. Which of the following inert gas is available only as a

product in the radioactive disintegrations ?

A. he

B. ar

C. rn

D. kr

https://dl.doubtnut.com/l/_3I5IF4d45G3t
https://dl.doubtnut.com/l/_Zjn1XLFePGzQ


C U Q Physical And Chemical Properties Of Noble Gases

Answer: C

Watch Video Solution

1. The forces of attraction operating between atoms of inert

gases are

A. electrostatic forces

B. ion dipole forces

C. magnetic forces

D. vander walls forces

Answer: D

https://dl.doubtnut.com/l/_Zjn1XLFePGzQ
https://dl.doubtnut.com/l/_SoVCZQJN09LA


Watch Video Solution

2. Which of the following noble gas is least polarisable ?

A. he

B. ne

C. kr

D. xe

Answer: A

Watch Video Solution

3. Boiling point is very high for

https://dl.doubtnut.com/l/_SoVCZQJN09LA
https://dl.doubtnut.com/l/_tazQ4ge5YP6P
https://dl.doubtnut.com/l/_lYbCvgE2e1oE


A. he

B. ne

C. kr

D. xe

Answer: D

Watch Video Solution

4. Chemically least active element is

A. kr

B. ne

C. xe

D. ar

https://dl.doubtnut.com/l/_lYbCvgE2e1oE
https://dl.doubtnut.com/l/_6LVmTtVAOUTA


Answer: B

Watch Video Solution

5. The noble gas which can from more number of

compounds is

A. ne

B. he

C. xe

D. ar

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_6LVmTtVAOUTA
https://dl.doubtnut.com/l/_9toLd9H7B5hi
https://dl.doubtnut.com/l/_LuZc1SLgGxsP


6. The first noble gas compound prepared by Bartlett is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

xef2

krf2

xeptf6

xeo3

7. Number of unpaired electrons in inert gas is

A. zero

B. 8

https://dl.doubtnut.com/l/_LuZc1SLgGxsP
https://dl.doubtnut.com/l/_e8eTkAGKmeXi


C. 4

D. 18

Answer: A

Watch Video Solution

8. The last member of the family of inert gases is

A. argon

B. radon

C. xenon

D. neon

Answer: B

https://dl.doubtnut.com/l/_e8eTkAGKmeXi
https://dl.doubtnut.com/l/_ALWkCPAfHhq6


Watch Video Solution

9. The element having highest ionisation potential is

A. h

B. n

C. o

D. he

Answer: D

Watch Video Solution

10. Which of the following gas is/are called inert gas ?

https://dl.doubtnut.com/l/_ALWkCPAfHhq6
https://dl.doubtnut.com/l/_gCUeKLvbLIEv
https://dl.doubtnut.com/l/_mI6uboCGwJAS


A. helium

B. oxygen

C. hydrogen

D. nitrogen

Answer: C

Watch Video Solution

11. Which of the following gas is/are called inert gas ?

A. he

B. ne

C. kr

D. all of these

https://dl.doubtnut.com/l/_mI6uboCGwJAS
https://dl.doubtnut.com/l/_2y7UpwxuIGrF


Answer: D

Watch Video Solution

12. The forces of attraction operating between atoms of

inert gases are

A. electrostatic forces

B. ion dipole forces

C. magnetic forces

D. vander walls forces

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_2y7UpwxuIGrF
https://dl.doubtnut.com/l/_AfU1nta8NqAw
https://dl.doubtnut.com/l/_iumz07HFKORI


13. Which of the following noble gas is least polarisable ?

A. he

B. ne

C. kr

D. xe

Answer: A

Watch Video Solution

14. Boiling point is very high for

A. he

B. ne

https://dl.doubtnut.com/l/_iumz07HFKORI
https://dl.doubtnut.com/l/_djZZgcfWlMEz


C. kr

D. xe

Answer: D

Watch Video Solution

15. Chemically least active element is

A. kr

B. ne

C. xe

D. ar

Answer: B

https://dl.doubtnut.com/l/_djZZgcfWlMEz
https://dl.doubtnut.com/l/_GDWC2IBZCxSF


Watch Video Solution

16. The noble gas which can from more number of

compounds is

A. ne

B. he

C. xe

D. ar

Answer: C

Watch Video Solution

17. The first noble gas compound prepared by Bartlett is

https://dl.doubtnut.com/l/_GDWC2IBZCxSF
https://dl.doubtnut.com/l/_MAyWl7xjzJrG
https://dl.doubtnut.com/l/_PHx99IYqcklX


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

xef2

krf2

xeptf6

xeo3

18. Number of unpaired electrons in inert gas is

A. zero

B. 8

C. 4

D. 18

https://dl.doubtnut.com/l/_PHx99IYqcklX
https://dl.doubtnut.com/l/_mINtLndLCZqC


Answer: A

Watch Video Solution

19. The last member of the family of inert gases is

A. argon

B. radon

C. xenon

D. neon

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_mINtLndLCZqC
https://dl.doubtnut.com/l/_zIV673JF7oe2


20. The element having highest ionisation potential is

A. h

B. n

C. o

D. he

Answer: D

Watch Video Solution

21. Which of the following gas is/are called inert gas ?

A. helium

B. oxygen

https://dl.doubtnut.com/l/_RmABoGZu1pSB
https://dl.doubtnut.com/l/_PLkoYo2gdVXK


C. hydrogen

D. nitrogen

Answer: C

Watch Video Solution

22. Which of the following gas is/are called inert gas ?

A. he

B. ne

C. kr

D. all of these

Answer: D

https://dl.doubtnut.com/l/_PLkoYo2gdVXK
https://dl.doubtnut.com/l/_T1lwo35xleYp


C U Q Flourides And Oxides Of Xenon And Their Structures

Watch Video Solution

1. Which of the following compound cannot be prepared ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

XeF2

XeF3

XeF4

XeF6

https://dl.doubtnut.com/l/_T1lwo35xleYp
https://dl.doubtnut.com/l/_8pEfKwELGQY2


2. Which of the following is a most explosive compound ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

XeF6

XeO4

XeF2

XeF4

3. The molecule havi linear structure is

A. 

B. 

XeO3

XeF4

https://dl.doubtnut.com/l/_7xyraiSESZXb
https://dl.doubtnut.com/l/_Sew6RpPt9Lkg


C. 

D. 

Answer: D

Watch Video Solution

Xef6

XeF2

4. The hybridisation of Xe in  is

A. 

B. 

C. 

D. 

Answer: C

XeO3

sp2

sp3d

sp3

sp3d2

https://dl.doubtnut.com/l/_Sew6RpPt9Lkg
https://dl.doubtnut.com/l/_TAaUs4iWM1GG


Watch Video Solution

5. The shape of  molecule is

A. tetrahedron

B. square planar

C. square pyramidal

D. trigonal bipyramid

Answer: B

Watch Video Solution

XeF4

6. Which of the following compound cannot be prepared ?

https://dl.doubtnut.com/l/_TAaUs4iWM1GG
https://dl.doubtnut.com/l/_TmkBuuonTIUX
https://dl.doubtnut.com/l/_x08Zft9U5fI7


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

XeF2

XeF3

XeF4

XeF6

7. Which of the following is a most explosive compound ?

A. 

B. 

C. 

D. 

XeF6

XeO4

XeF2

XeF4

https://dl.doubtnut.com/l/_x08Zft9U5fI7
https://dl.doubtnut.com/l/_56OnNw3JVxEN


Answer: C

Watch Video Solution

8. The molecule with with linear structure is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

XeO3

XeF4

Xef6

XeF2

https://dl.doubtnut.com/l/_56OnNw3JVxEN
https://dl.doubtnut.com/l/_2SiRCSmJozru


9. The hybridisation of Xe in  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

XeO3

sp2

sp3d

sp3

sp3d2

10. The shape of  molecule is

A. tetrahedron

B. square planar

XeF4

https://dl.doubtnut.com/l/_HXC1c7hBAZ1Q
https://dl.doubtnut.com/l/_aGBEKrh1omht


C U Q Uses Of Noble Gases

C. square pyramidal

D. trigonal bipyramid

Answer: B

Watch Video Solution

1. The element is used in locating defect in steel casting is

A. He

B. Kr

C. Xe

D. Rn

https://dl.doubtnut.com/l/_aGBEKrh1omht
https://dl.doubtnut.com/l/_MKd87MQyqDE2


Answer: D

Watch Video Solution

2. The gas used for inflating the tyres of aeroplanes is

A. Ar

B. He

C. 

D. 

Answer: B

Watch Video Solution

H2

N2

https://dl.doubtnut.com/l/_MKd87MQyqDE2
https://dl.doubtnut.com/l/_yTf6AUwjvU5M


3. The coloured discharge tubes for advertisement mainly

contains

A. Xe

B. He

C. Ne

D. Ar

Answer: C

Watch Video Solution

4. The element is used in locating defect in steel casting is

A. He

https://dl.doubtnut.com/l/_EIsysb4bGO6b
https://dl.doubtnut.com/l/_iMlVCiM2JgxM


B. Kr

C. Xe

D. Rn

Answer: D

Watch Video Solution

5. The gas used for inflating the tyres of aeroplanes is

A. Ar

B. He

C. 

D. 

H2

N2

https://dl.doubtnut.com/l/_iMlVCiM2JgxM
https://dl.doubtnut.com/l/_66jK6MGGDm0j


Answer: B

Watch Video Solution

6. The coloured discharge tubes for advertisement mainly

contains

A. Xe

B. He

C. Ne

D. Ar

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_66jK6MGGDm0j
https://dl.doubtnut.com/l/_WCnwCr8hpWrn


Exercise I C W Electronic Configuration Discovery Occurrence

1. The most abundant of helium is

A. spring waters

B. natural gas

C. clevite

D. sun

Answer: B

Watch Video Solution

2. The inert gas predicted from the solar spectrum is

https://dl.doubtnut.com/l/_LdnyNnnppYkj
https://dl.doubtnut.com/l/_lh3JoOEyA5Yk


A. ne

B. kr

C. xe

D. he

Answer: D

Watch Video Solution

3. Which of the following is the correct sequence of the

noble gases in their in the periodic table ?

A. Ar,He,Kr,Ne,Rn,Xe

B. He,Ar,Ne,Kr,Xe,Rn

C. He,Ne,Kr,Ar,Xe,Rn

https://dl.doubtnut.com/l/_lh3JoOEyA5Yk
https://dl.doubtnut.com/l/_O5TJ8lDCVsHw


D. He,Ne,Ar,Kr,Xe,Rn

Answer: D

Watch Video Solution

4. Which of the following is not a noble gas ?

A. 

B. He

C. Ne

D. Ar

Answer: A

Watch Video Solution

N2

https://dl.doubtnut.com/l/_O5TJ8lDCVsHw
https://dl.doubtnut.com/l/_nqyj6xb8avlv


5. Which one of the following configuration represents a

noble gas ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1s22s22p63s2

1s22s22p63s23p5

1s22s22p63s23p6

1s22s22p63s23p2

6.  is the electron configuration of1s22s22p6

https://dl.doubtnut.com/l/_nqyj6xb8avlv
https://dl.doubtnut.com/l/_ghLkzsSItGap
https://dl.doubtnut.com/l/_QT2ZqspHEmSt


A. nitrogen

B. boron

C. argon

D. neon

Answer: D

Watch Video Solution

7. The most abundant of helium is

A. spring waters

B. natural gas

C. clevite

D. sun

https://dl.doubtnut.com/l/_QT2ZqspHEmSt
https://dl.doubtnut.com/l/_IbvV0c4hvS1n


Answer: B

Watch Video Solution

8. The inert gas predicted from the solar spectrum is

A. ne

B. kr

C. xe

D. he

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_IbvV0c4hvS1n
https://dl.doubtnut.com/l/_u7sKlzU8SjwN


9. Which of the following is the correct sequence of the

noble gases in their in the periodic table ?

A. Ar,He,Kr,Ne,Rn,Xe

B. He,Ar,Ne,Kr,Xe,Rn

C. He,Ne,Kr,Ar,Xe,Rn

D. He,Ne,Ar,Kr,Xe,Rn

Answer: D

Watch Video Solution

10. Which of the following is not a noble gas ?

A. N2

https://dl.doubtnut.com/l/_hl0sYmCKupvg
https://dl.doubtnut.com/l/_BdQzErnhTLU9


B. He

C. Ne

D. Ar

Answer: A

Watch Video Solution

11. Which one of the following configurations represents a

noble gas?

A. 

B. 

C. 

D. 

1s22s22p63s2

1s22s22p63s23p5

1s22s22p63s23p6

1s22s22p63s23p2

https://dl.doubtnut.com/l/_BdQzErnhTLU9
https://dl.doubtnut.com/l/_OcZ842vnmgPk


Answer: C

Watch Video Solution

12.  is the electron configuration of

A. nitrogen

B. boron

C. argon

D. neon

Answer: D

Watch Video Solution

1s22s22p6

https://dl.doubtnut.com/l/_OcZ842vnmgPk
https://dl.doubtnut.com/l/_LvNPVAaXBato


Exercise I C W Physical And Chemical Properties Of Noble Gases

1. Noble gases form compounds very easily with

A. suplhur

B. nitrogen

C. oxygen

D. fluorine

Answer: D

Watch Video Solution

2. Among noble gases, only xenon can form more number of

compounds. This is due to its

https://dl.doubtnut.com/l/_vPhpqvRaQW3P
https://dl.doubtnut.com/l/_VG3uxZeekVeo


A. high I.P

B. Low I.P

C. small size

D. less than zero electron affinity

Answer: B

Watch Video Solution

3. Helium is subjected to electrical discharge. The following

species is not present in the discharge tube

A. 

B. 

C. 

He+

He+
2

He2

https://dl.doubtnut.com/l/_VG3uxZeekVeo
https://dl.doubtnut.com/l/_6c23H96NqlZx


D. He

Answer: C

Watch Video Solution

4. The spectrum of  is expected to be similar to that of

A. H

B. Be

C. 

D. He

Answer: C

Watch Video Solution

He+

Li+

https://dl.doubtnut.com/l/_6c23H96NqlZx
https://dl.doubtnut.com/l/_cI9Y3ENYHnaf


5. The gas that gives superfluid on cooling at  is

A. Ar

B. Rn

C. kr

D. He

Answer: D

Watch Video Solution

2.2K

6. Viscosity is very low for

A. Ar

https://dl.doubtnut.com/l/_cI9Y3ENYHnaf
https://dl.doubtnut.com/l/_Fk2UT2XH9nDp
https://dl.doubtnut.com/l/_UcCcONC4RwLP


B. He(I)

C. He(II)

D. Kr

Answer: C

Watch Video Solution

7. Which of the following statement is not correct for a

noble gas ?

A. Argon is used to fill the incacndescent bulbs

B. krypton is obtained in nuclear fission

C. radon is present in the air

D. xenon cannot form XeF3

https://dl.doubtnut.com/l/_UcCcONC4RwLP
https://dl.doubtnut.com/l/_eJlwq0V2wt1K


Answer: C

Watch Video Solution

8. Noble gases form compounds very easily with

A. suplhur

B. nitrogen

C. oxygen

D. fluorine

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_eJlwq0V2wt1K
https://dl.doubtnut.com/l/_wEc1RNOhbrKG


9. Among noble gases, only xenon can form more number of

compounds. This is due to its

A. high I.P

B. Low I.P

C. small size

D. less than zero electron affinity

Answer: B

Watch Video Solution

10. Helium is subjected to electrical discharge. The following

species is not present in the discharge tube

https://dl.doubtnut.com/l/_a28guVUpxcLW
https://dl.doubtnut.com/l/_9yUjDImFwBaE


A. 

B. 

C. 

D. He

Answer: C

Watch Video Solution

He+

He+
2

He2

11. The spectrum of  is expected to be similar to that of

A. H

B. Be

C. 

D. He

He+

Li+

https://dl.doubtnut.com/l/_9yUjDImFwBaE
https://dl.doubtnut.com/l/_aIDJLW1JN0Yz


Answer: C

Watch Video Solution

12. The gas that gives superfluid on cooling at  is

A. Ar

B. Rn

C. kr

D. He

Answer: D

Watch Video Solution

2.2K

https://dl.doubtnut.com/l/_aIDJLW1JN0Yz
https://dl.doubtnut.com/l/_7u3t6LEbNSu1


13. Viscosity is very low for

A. Ar

B. He(I)

C. He(II)

D. Kr

Answer: C

Watch Video Solution

14. Which of the following statements is not correct for a

noble gas ?

A. Argon is used to fill the incacndescent bulbs

https://dl.doubtnut.com/l/_E4dlFF9fzyPh
https://dl.doubtnut.com/l/_gYSA61BIMrqP


Exercise I C W Flourides And Oxides Of Xenon And Their

Structures

B. krypton is obtained in nuclear fission

C. radon is present in the air

D. xenon cannot form 

Answer: C

Watch Video Solution

XeF3

1. Which of the following forms maximum number of

compounds ?

A. Ne

https://dl.doubtnut.com/l/_gYSA61BIMrqP
https://dl.doubtnut.com/l/_yRo1b5CFsC1x


B. Kr

C. Xe

D. Rn

Answer: C

Watch Video Solution

2. The hybridisation of Xe is  in

A. 

B. 

C. 

D. 

sp3d2

XeF2

XeO4

XeF 2
4

XeO3

https://dl.doubtnut.com/l/_yRo1b5CFsC1x
https://dl.doubtnut.com/l/_3T7biV8bgw3d


Answer: C

Watch Video Solution

3.  is a square planar molecule. The hybridisation of

xenon atom in this molecule is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

XeF4

dsp2

sp3d

sp3d2

d2sp3

https://dl.doubtnut.com/l/_3T7biV8bgw3d
https://dl.doubtnut.com/l/_VR5zAWEFAqJa
https://dl.doubtnut.com/l/_M5ejLualkokh


4. Which of the following forms maximum number of

compounds ?

A. Ne

B. Kr

C. Xe

D. Rn

Answer: C

Watch Video Solution

5. The hybridisation of Xe is  in

A. 

sp3d2

XeF2

https://dl.doubtnut.com/l/_M5ejLualkokh
https://dl.doubtnut.com/l/_3DvgumlJh7Mb


B. 

C. 

D. 

Answer: C

Watch Video Solution

XeO4

XeF 2
4

XeO3

6.  is a square planar molecule. The hybridisation of

xenon atom in this molecule is

A. 

B. 

C. 

D. 

XeF4

dsp2

sp3d

sp3d2

d2sp3

https://dl.doubtnut.com/l/_3DvgumlJh7Mb
https://dl.doubtnut.com/l/_RmS8SqXnyKVl


Exercise I C W Uses Of Noble Gases

Answer: C

Watch Video Solution

1. Why is an electric light bulb not filled with air? Explain why

argon or nitrogen is filled in an electric bulb.

A. Ar

B. 

C. He

D. 

Answer: A

N2

O2

https://dl.doubtnut.com/l/_RmS8SqXnyKVl
https://dl.doubtnut.com/l/_JNeH3nML2m2D


Watch Video Solution

2. The gas used in gas thermometer is

A. He

B. 

C. Xe

D. neon

Answer: A

Watch Video Solution

O2

3. If  gas is dissolved in the blood, it causesN2

https://dl.doubtnut.com/l/_JNeH3nML2m2D
https://dl.doubtnut.com/l/_AgAH78oz6NjO
https://dl.doubtnut.com/l/_y7QZzYzYmo81


A. blindness

B. headache

C. bends

D. all

Answer: C

Watch Video Solution

4. Why is an electric light bulb not filled with air? Explain

why argon or nitrogen is filled in an electric bulb.

A. Ar

B. 

C. He

N2

https://dl.doubtnut.com/l/_y7QZzYzYmo81
https://dl.doubtnut.com/l/_QdvGnZdwKh4b


D. 

Answer: A

Watch Video Solution

O2

5. The gas used in gas thermometer is

A. He

B. 

C. Xe

D. neon

Answer: A

Watch Video Solution

O2

https://dl.doubtnut.com/l/_QdvGnZdwKh4b
https://dl.doubtnut.com/l/_oleU2fSNLx4x


Exercise I H W Elelctronic Configuration Discovery Occurrence

6. If  gas is dissolved in the blood, it causes

A. blindness

B. headache

C. bends

D. all

Answer: C

Watch Video Solution

N2

https://dl.doubtnut.com/l/_oleU2fSNLx4x
https://dl.doubtnut.com/l/_0VWSBjqGosSb


1. Which of the following corresponds to the configuration

 ?

A. he

B. na

C. mg

D. ar

Answer: D

Watch Video Solution

1s22s22p63s23p6

2. The valency is zero for

A. neon

https://dl.doubtnut.com/l/_nLpO2ACc78en
https://dl.doubtnut.com/l/_talbVz2DAtTt


B. fluorine

C. oxygen

D. carbon

Answer: A

Watch Video Solution

3. Oxidation state of zero group elements is

A. 

B. 

C. 0

D. 

−1

+1

−2

https://dl.doubtnut.com/l/_talbVz2DAtTt
https://dl.doubtnut.com/l/_sxioPKSs2MWb


Answer: C

Watch Video Solution

4. The atomicity of neon gas is

A. two

B. one

C. four

D. three

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_sxioPKSs2MWb
https://dl.doubtnut.com/l/_gigXcvSklo6D


5. Which of the following gaseous molecules is monoatomic

?

A. chlorine

B. helium

C. oxygen

D. nitrogen

Answer: B

Watch Video Solution

6. The number of electrons in the penultimate orbit of

krypton atom are

https://dl.doubtnut.com/l/_TFZXlChNLN5Q
https://dl.doubtnut.com/l/_Ub0KNlaeCXHS


A. 8

B. 2

C. 18

D. 32

Answer:

Watch Video Solution

7. Which one of the following noble gases is not found in

atmosphere ?

A. Rn

B. Kr

C. Ne

https://dl.doubtnut.com/l/_Ub0KNlaeCXHS
https://dl.doubtnut.com/l/_D0vZDdhEzKRp


D. Ar

Answer: A

Watch Video Solution

8. Which of the following corresponds to the configuration

 ?

A. he

B. na

C. mg

D. ar

Answer: D

W t h Vid S l ti

1s22s22p63s23p6

https://dl.doubtnut.com/l/_D0vZDdhEzKRp
https://dl.doubtnut.com/l/_o63Sn6zg57M2


Watch Video Solution

9. The valency is zero for

A. neon

B. fluorine

C. oxygen

D. carbon

Answer: A

Watch Video Solution

10. Oxidation state of zero group elements is

https://dl.doubtnut.com/l/_o63Sn6zg57M2
https://dl.doubtnut.com/l/_cHgEy0QXYMAt
https://dl.doubtnut.com/l/_H7XjCyyZJBig


A. 

B. 

C. 0

D. 

Answer: C

Watch Video Solution

−1

+1

−2

11. The atomicity of neon gas is

A. two

B. one

C. four

D. three

https://dl.doubtnut.com/l/_H7XjCyyZJBig
https://dl.doubtnut.com/l/_BFmozHJN0DPQ


Answer: B

Watch Video Solution

12. Which of the following gaseous molecules is monoatomic

?

A. chlorine

B. helium

C. oxygen

D. nitrogen

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_BFmozHJN0DPQ
https://dl.doubtnut.com/l/_NqfFcfNXtadj
https://dl.doubtnut.com/l/_GqWl34Bg2gaA


13. The number of electrons in the penultimate orbit of

krypton atom are

A. 8

B. 2

C. 18

D. 32

Answer:

Watch Video Solution

14. Which one of the following noble gases is not found in

atmosphere ?

https://dl.doubtnut.com/l/_GqWl34Bg2gaA
https://dl.doubtnut.com/l/_9S3aT3O7a6nJ


Exercise I H W Physical And Chemical Properties Of Noble

Gases

A. Rn

B. Kr

C. Ne

D. Ar

Answer: A

Watch Video Solution

1. Inversion temperature of helium is very low. So when

helium is allowed to expand into vacuum it gets

https://dl.doubtnut.com/l/_9S3aT3O7a6nJ
https://dl.doubtnut.com/l/_B86FBKkVX6vy


A. cooled

B. heated

C. neither colled nor heated

D. liquified

Answer: B

Watch Video Solution

2. The heat of vapourisation is very high for

A. he

B. ne

C. ar

D. xe

https://dl.doubtnut.com/l/_B86FBKkVX6vy
https://dl.doubtnut.com/l/_vkBvzAnaCaap


Answer: D

Watch Video Solution

3. The M.P. and B.P. are very low for

A. ne

B. he

C. kr

D. ar

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_vkBvzAnaCaap
https://dl.doubtnut.com/l/_76wvzb6tIVWT


4. Which of the following is a product in the explosion of

hydrogen bomb ?

A. kr

B. ne

C. he

D. xe

Answer: C

Watch Video Solution

5. The lightest metal is

A. H2

https://dl.doubtnut.com/l/_ezg4NwRu0GuF
https://dl.doubtnut.com/l/_ajZPULP8e4n3


B. He

C. 

D. Ar

Answer: B

Watch Video Solution

N2

6. The electronic configuration of neon is

A. 

B. 

C. 

D. 

1s22s22p6

1s2

2s2

1s22s22p2

https://dl.doubtnut.com/l/_ajZPULP8e4n3
https://dl.doubtnut.com/l/_usuDYHE9MKzz


Answer: A

Watch Video Solution

7. Inversion temperature of helium is very low. So when

helium is allowed to expand into vacuum it gets

A. cooled

B. heated

C. neither colled nor heated

D. liquified

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_usuDYHE9MKzz
https://dl.doubtnut.com/l/_YkwNEsMeOftc
https://dl.doubtnut.com/l/_Em6Zn82FDZeX


8. The heat of vapourisation is very high for

A. he

B. ne

C. ar

D. xe

Answer: D

Watch Video Solution

9. The M.P. and B.P. are very low for

A. ne

B. he

https://dl.doubtnut.com/l/_Em6Zn82FDZeX
https://dl.doubtnut.com/l/_gbIJesL5q76q


C. kr

D. ar

Answer: B

Watch Video Solution

10. Which of the following is a product in the explosion of

hydrogen bomb ?

A. kr

B. ne

C. he

D. xe

https://dl.doubtnut.com/l/_gbIJesL5q76q
https://dl.doubtnut.com/l/_1dyvt0i2iril


Answer: C

Watch Video Solution

11. The lightest metal is

A. 

B. He

C. 

D. Ar

Answer: B

Watch Video Solution

H2

N2

https://dl.doubtnut.com/l/_1dyvt0i2iril
https://dl.doubtnut.com/l/_cXdQ3V11Y9t3


Exercise I H W Flourides And Oxides Of Xenon And Their

Structure

12. The electronic configuration of neon is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1s22s22p6

1s2

2s2

1s22s22p2

1. The shape of  molecule isXeO3

https://dl.doubtnut.com/l/_ZOPf4n6oUOv1
https://dl.doubtnut.com/l/_B3nyRxZV4KtK


A. planar triangle

B. pyramid

C. linear

D. square planar

Answer: B

Watch Video Solution

2.  molecule is

A. trigonal planar

B. square planar

C. linear

D. pyramidal

XeF2

https://dl.doubtnut.com/l/_B3nyRxZV4KtK
https://dl.doubtnut.com/l/_1tM9DUGGYcZC


Answer: C

Watch Video Solution

3. The shape of  molecule is

A. planar triangle

B. pyramid

C. linear

D. square planar

Answer: B

Watch Video Solution

XeO3

https://dl.doubtnut.com/l/_1tM9DUGGYcZC
https://dl.doubtnut.com/l/_jyzncnIKjAE7


Exercise I H W Uses Of Noble Gases

4.  molecule is

A. trigonal planar

B. square planar

C. linear

D. pyramidal

Answer: C

Watch Video Solution

XeF2

1. Sea divers go deep in the sea water with a mixture of

which of the following gases

https://dl.doubtnut.com/l/_1LqEECBe25jl
https://dl.doubtnut.com/l/_lA6GD8gnfgO5


A.  and He

B.  and Ar

C.  and 

D.  and Ar

Answer: A

Watch Video Solution

O2

O2

O2 CO2

CO2

2. Which mixture is used for respiration by deep sea divers?

A.  and 

B.  and He

C.  and Ar

D.  and Ne

O2 H2

O2

O2

O2

https://dl.doubtnut.com/l/_lA6GD8gnfgO5
https://dl.doubtnut.com/l/_SikHwnkvPjVX


Answer: B

Watch Video Solution

3. Sea divers go deep in the sea water with a mixture of

which of the following gases

A.  and He

B.  and Ar

C.  and 

D.  and Ar

Answer: A

Watch Video Solution

O2

O2

O2 CO2

CO2

https://dl.doubtnut.com/l/_SikHwnkvPjVX
https://dl.doubtnut.com/l/_u8uj217LiMuw
https://dl.doubtnut.com/l/_Jcra7zQ5onNX


Exercise Ii C W Electronic Configuration Discovery Occurrence

4. ASTHMA

A.  and 

B.  and He

C.  and Ar

D.  and Ne

Answer: B

Watch Video Solution

O2 H2

O2

O2

O2

1. The lightest noble gas atom contains the following

particles in its nucleus

https://dl.doubtnut.com/l/_Jcra7zQ5onNX
https://dl.doubtnut.com/l/_6mdqIiFsML28


A. 4protons

B. 3 neutrons

C. 3 protons and 1 neutron

D. 2 protons and 2 neutrons

Answer: D

Watch Video Solution

2. The order of abunndance of inert gases in the

atmosphere is

A. 

B. 

C. 

Ar < Ne < Xe

Ar > Ne > Xe

Ar > Xe > Ne

https://dl.doubtnut.com/l/_6mdqIiFsML28
https://dl.doubtnut.com/l/_KL4eU9XHf1DK


D. 

Answer: B

Watch Video Solution

Ne > Ar > Xe

3. Which of the following is false fruit ?

A. radon is obtained by the decay of radium

B. helium is an inert gas

C. xenon is the most reacting among rare gases

D. the most abundant rare gas in the atomospher is

helium

Answer: D

https://dl.doubtnut.com/l/_KL4eU9XHf1DK
https://dl.doubtnut.com/l/_lgVRvTRqgW5u


Watch Video Solution

4. Which of the following is non-existing ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

H2

O2

N2

He2

5. The lightest noble gas atom contains the following

particles in its nucleus

https://dl.doubtnut.com/l/_lgVRvTRqgW5u
https://dl.doubtnut.com/l/_kdzLQcTaFXsB
https://dl.doubtnut.com/l/_hUGV77amXcuK


A. 4protons

B. 3 neutrons

C. 3 protons and 1 neutron

D. 2 protons and 2 neutrons

Answer: D

Watch Video Solution

6. The order of abunndance of inert gases in the

atmosphere is

A. 

B. 

C. 

Ar < Ne < Xe

Ar > Ne > Xe

Ar > Xe > Ne

https://dl.doubtnut.com/l/_hUGV77amXcuK
https://dl.doubtnut.com/l/_fdmgm1V0lxye


D. 

Answer: B

Watch Video Solution

Ne > Ar > Xe

7. Which of the following statement is flase .

A. radon is obtained by the decay of radium

B. helium is an inert gas

C. xenon is the most reacting among rare gases

D. the most abundant rare gas in the atomospher is

helium

Answer: D

https://dl.doubtnut.com/l/_fdmgm1V0lxye
https://dl.doubtnut.com/l/_EWwez8NyAz6P


Exercise Ii C W Physical And Chemical Properties Of Noble

Gases

Watch Video Solution

8. Which of the following is non-existing ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

H2

O2

N2

He2

https://dl.doubtnut.com/l/_EWwez8NyAz6P
https://dl.doubtnut.com/l/_vqPLSxqRRain
https://dl.doubtnut.com/l/_iEEe0qmTUs0w


1. Electronegativity of inert gases is

A. low

B. high

C. zero

D. abnormally high

Answer: C

Watch Video Solution

2. Ionisation potential is very low for

A. Xe

B. Ne

https://dl.doubtnut.com/l/_iEEe0qmTUs0w
https://dl.doubtnut.com/l/_oA3YA5JDfwVB


C. He

D. Ar

Answer: A

Watch Video Solution

3. The density is very high for

A. ne

B. ar

C. he

D. xe

Answer: D

https://dl.doubtnut.com/l/_oA3YA5JDfwVB
https://dl.doubtnut.com/l/_NWk5A3kwIpcq


Watch Video Solution

4. Which of the following noble gases does not have an

octer of electrons in its outermost shell ?

A. neon

B. radon

C. argon

D. helium

Answer: D

Watch Video Solution

5. The value of ionisation energy for inert gases is ________.

https://dl.doubtnut.com/l/_NWk5A3kwIpcq
https://dl.doubtnut.com/l/_wdR0PLoQ5xQk
https://dl.doubtnut.com/l/_kXVq8x2XZ4t0


A. zero

B. low

C. high

D. negative

Answer: C

Watch Video Solution

6. The noble gas which behaves abnormally in liquid state is

A. xe

B. ne

C. he

D. ar

https://dl.doubtnut.com/l/_kXVq8x2XZ4t0
https://dl.doubtnut.com/l/_PrE4UZm79AoO


Answer: C

Watch Video Solution

7. The noble gas with highest ionization energy is

A. he

B. ar

C. xe

D. kr

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_PrE4UZm79AoO
https://dl.doubtnut.com/l/_OavMMubfs2ce


8. Which of the following has  hybridization ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

SP 3

XeO3

BCI3

XeF4

BBr3

9. Electronegativity of inert gases is

A. low

B. high

https://dl.doubtnut.com/l/_woZ56yRxPguF
https://dl.doubtnut.com/l/_xMCDJsp0X6y5


C. zero

D. abnormally high

Answer: C

Watch Video Solution

10. Ionisation potential is very low for

A. Xe

B. Ne

C. He

D. Ar

Answer: A

https://dl.doubtnut.com/l/_xMCDJsp0X6y5
https://dl.doubtnut.com/l/_IUzItrKnPq4i


Watch Video Solution

11. The density is very high for

A. ne

B. ar

C. he

D. xe

Answer: D

Watch Video Solution

12. Which of the following noble gases does not have an

octer of electrons in its outermost shell ?

https://dl.doubtnut.com/l/_IUzItrKnPq4i
https://dl.doubtnut.com/l/_ExKkxa8duGeo
https://dl.doubtnut.com/l/_8ceq0lcLHfGQ


A. neon

B. radon

C. argon

D. helium

Answer: D

Watch Video Solution

13. The value of ionisation energy for inert gases is ________.

A. zero

B. low

C. high

D. negative

https://dl.doubtnut.com/l/_8ceq0lcLHfGQ
https://dl.doubtnut.com/l/_tB8vgi5lJyFO


Answer: C

Watch Video Solution

14. The noble gas which behaves abnormally in liquid state is

A. xe

B. ne

C. he

D. ar

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_tB8vgi5lJyFO
https://dl.doubtnut.com/l/_EJGsF4Uz0yje


15. The noble gas with highest ionization energy is

A. he

B. ar

C. xe

D. kr

Answer: A

Watch Video Solution

16. Which of the following has  hybridization ?

A. 

B. 

SP 3

XeO3

BCI3

https://dl.doubtnut.com/l/_HKKKr4dOPdr9
https://dl.doubtnut.com/l/_p8GJPjwlD2bD


Exercise Ii C W Fluorides And Oxides Of Xenon Their Structure

C. 

D. 

Answer: A

Watch Video Solution

XeF4

BBr3

1. What is the atomic number (Z) of the noble gas that

reacts with fluorine ?

A. 54

B. 10

C. 18

https://dl.doubtnut.com/l/_p8GJPjwlD2bD
https://dl.doubtnut.com/l/_3b3COq6FYUNg


D. 2

Answer: A

Watch Video Solution

2. Maximum number of compound are known in the case of :

A. Ne

B. Xe

C. kr

D. Ar

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_3b3COq6FYUNg
https://dl.doubtnut.com/l/_DrpG3MmXEB3r


3. Among noble gases, only xenon reacts with flourine to

form stable xenon fluorides, because xenon

A. has highest ionisation enthalyphy

B. has lowest ionisation enthalphy

C. has highest heat of vapourisat

D. is the most readily avilable n

Answer: B

Watch Video Solution

4. The bond angle in  molecule isXeF2

https://dl.doubtnut.com/l/_DrpG3MmXEB3r
https://dl.doubtnut.com/l/_b0EZFjqrnfGb
https://dl.doubtnut.com/l/_cst6Y05aGb9h


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

120∘

109∘

281

180∘

5. The number of lone pairs of electrons on xenon atom in

 molecule is

A. 4

B. 3

C. 2

XeF4

https://dl.doubtnut.com/l/_cst6Y05aGb9h
https://dl.doubtnut.com/l/_04misxNHXTdG


D. zero

Answer: C

Watch Video Solution

6. The number of s and p bonds in  molecule are

A. 1 s, 2p

B. 3s,3p

C. 3s,0p

D. 2s,1p

Answer: B

Watch Video Solution

XeO3

https://dl.doubtnut.com/l/_04misxNHXTdG
https://dl.doubtnut.com/l/_PrEO4TlVhp5j


7. Which one of the following is a correct pair with respect

to molecular formula of xenon compound and hybridisation

state of xenon in it ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

XeF4, sp3

XeF2, sp

XeF2, sp3d

XeF4, sp

https://dl.doubtnut.com/l/_PrEO4TlVhp5j
https://dl.doubtnut.com/l/_XonPb3RbqtjF


8. The number of lone pairs of electrons present on Xe in

 ?

A. 3

B. 4

C. 2

D. 1

Answer: A

Watch Video Solution

XeF2

9. The structure of  is

A. distorted octahedral

XeF6

https://dl.doubtnut.com/l/_zpOsuTZvp1eh
https://dl.doubtnut.com/l/_odqtWEcgINBN


B. trigonal pyramidal

C. tetrahedral

D. none of the above

Answer: A

Watch Video Solution

10. Which of the following is planar molecule ?

A. 

B. 

C. 

D. 

XeO2F2

XeO3

XeO4

XeF4

https://dl.doubtnut.com/l/_odqtWEcgINBN
https://dl.doubtnut.com/l/_s2T4H7QPIy2e


Answer: D

Watch Video Solution

11. Shape of  is

A. octahedral

B. square pyramidal

C. pyramidal

D. T-shaped

Answer: B

Watch Video Solution

XeOF4

https://dl.doubtnut.com/l/_s2T4H7QPIy2e
https://dl.doubtnut.com/l/_Pl0qGt6Sz3O7


12. Hybridization and shape of  is

A.  d trigonal bipyramidal

B.  tetrahedral

C.  square planar

D.  hexagonal

Answer: C

Watch Video Solution

XeF4

sp3

sp3

sp3d2

sp3, d2

13. Which of the following is formed by xenon ?

A. 

B. 

XeF7

XeF4

https://dl.doubtnut.com/l/_RwrvIj2UC6vO
https://dl.doubtnut.com/l/_QHB6IYvkI918


C. 

D. 

Answer: B

Watch Video Solution

XeF4

XeF3

14. The structure of  is

A. Square pyramidal

B. trigonal pyramidal (see -sea)

C. octahedral

D. tetrahedral

Answer: B

XeO2F2

https://dl.doubtnut.com/l/_QHB6IYvkI918
https://dl.doubtnut.com/l/_vooqbduvZMpR


Watch Video Solution

15. What is the atomic number (Z) of the noble gas that

reacts with fluorine ?

A. 54

B. 10

C. 18

D. 2

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_vooqbduvZMpR
https://dl.doubtnut.com/l/_FFcGwmQxJMtd


16. Maximum number of compounds are known in the case

of:

A. Ne

B. Xe

C. kr

D. Ar

Answer: B

Watch Video Solution

17. Among noble gases, only xenon reacts with flourine to

form stable xenon fluorides, because xenon

https://dl.doubtnut.com/l/_TiIfnmGmQ8t9
https://dl.doubtnut.com/l/_pgPVhcxJNnzK


A. has highest ionisation enthalyphy

B. has lowest ionisation enthalphy

C. has highest heat of vapourisat

D. is the most readily avilable n

Answer: B

Watch Video Solution

18. The bond angle in  molecule is

A. 

B. 

C. 

D. 

XeF2

120∘

109∘

281

180∘

https://dl.doubtnut.com/l/_pgPVhcxJNnzK
https://dl.doubtnut.com/l/_nJcCV9L2994l


Answer: C

Watch Video Solution

19. The number of lone pairs of electrons on xenon atom in

 molecule is

A. 4

B. 3

C. 2

D. zero

Answer: C

Watch Video Solution

XeF4

https://dl.doubtnut.com/l/_nJcCV9L2994l
https://dl.doubtnut.com/l/_xI0C57ol8RZB
https://dl.doubtnut.com/l/_j1ZDM3uKa6fL


20. The number of s and p bonds in  molecule are

A. 1 s, 2p

B. 3s,3p

C. 3s,0p

D. 2s,1p

Answer: B

Watch Video Solution

XeO3

21. Which one of the following is a correct pair with respect

to molecular formula of xenon compound and hybridisation

state of xenon in it ?

https://dl.doubtnut.com/l/_j1ZDM3uKa6fL
https://dl.doubtnut.com/l/_u6WEPjcTOgI6


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

XeF4, sp3

XeF2, sp

XeF2, sp3d

XeF4, sp

22. The number of lone pairs of electrons on xenon atom in

 molecule is

A. 3

B. 4

C. 2

XeF4

https://dl.doubtnut.com/l/_u6WEPjcTOgI6
https://dl.doubtnut.com/l/_3iLVDMDThhbq


D. 1

Answer: A

Watch Video Solution

23. The structure of  is

A. distorted octahedral

B. trigonal pyramidal

C. tetrahedral

D. none of the above

Answer: A

Watch Video Solution

XeF6

https://dl.doubtnut.com/l/_3iLVDMDThhbq
https://dl.doubtnut.com/l/_5JCwM17BGNpI


24. Which of the following is planar molecule ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

XeO2F2

XeO3

XeO4

XeF4

25. Shape of  is

A. octahedral

XeOF4

https://dl.doubtnut.com/l/_5JCwM17BGNpI
https://dl.doubtnut.com/l/_jHopCvQTlMGN
https://dl.doubtnut.com/l/_GvlANgDqw2FG


B. square pyramidal

C. pyramidal

D. T-shaped

Answer: B

Watch Video Solution

26. Hybridization and shape of  is

A.  d trigonal bipyramidal

B.  tetrahedral

C.  square planar

D.  hexagonal

XeF4

sp3

sp3

sp3d2

sp3, d2

https://dl.doubtnut.com/l/_GvlANgDqw2FG
https://dl.doubtnut.com/l/_slgwWH1FdHp2


Answer: C

Watch Video Solution

27. Which of the following is formed by xenon ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

XeF7

XeF4

XeF4

XeF3

https://dl.doubtnut.com/l/_slgwWH1FdHp2
https://dl.doubtnut.com/l/_hwbI3yEYys9c


Exercise Ii C W Uses

28. The structure of  is

A. Square pyramidal

B. trigonal pyramidal (see -sea)

C. octahedral

D. tetrahedral

Answer: B

Watch Video Solution

XeO2F2

1. The gas mixture used to provide relief for the asthma

patients in their respiratory problems is

https://dl.doubtnut.com/l/_a9xaGuMqM06P
https://dl.doubtnut.com/l/_ehUK4h7cRwmz


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Ne + O2

Xe + N2

Ar + O2

He + O2

2. Beacon lights are obtained from

A. neon lamps

B. tungston lamps

C. hydrogen lamps

D. xenon lamps

https://dl.doubtnut.com/l/_ehUK4h7cRwmz
https://dl.doubtnut.com/l/_MgYs0bASp6bq


Answer: A

Watch Video Solution

3. In ordinary incadescent and fluorscen lamps the gas filled

along with nitrogen is

A. Ne

B. He

C. Xe

D. Ar

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_MgYs0bASp6bq
https://dl.doubtnut.com/l/_hgnol5pmSZRL
https://dl.doubtnut.com/l/_z29J4Nxb5vlv


4. Helium - oxygen mixture is used by deep sea divers in

preference to nitrogen-oxygen mixture, because

A. helium in much less soluble in blood than nitrogen

B. nitrogen is much less soluble in blood than helium

C. due to high pressure nitrogen reacts with oxygen to

give poisonous nitric oxide

D. nitrogen is highly soluble in water

Answer: A

Watch Video Solution

5. Which of the following noble gases is used in the

treatment of cancer ?

https://dl.doubtnut.com/l/_z29J4Nxb5vlv
https://dl.doubtnut.com/l/_NaHbxp6tzSnX


A. Xe

B. ar

C. Rn

D. Kr

Answer: C

Watch Video Solution

6. Which one of the following statements regarding helium

is incorrect ?

A. it is used to produce and sustain powerful

superconducting magents

https://dl.doubtnut.com/l/_NaHbxp6tzSnX
https://dl.doubtnut.com/l/_iAyGF9s7Cg5q


B. it is used as cryogenic agnet for carrying out

experiments at low temperatures

C. it is used to fill gas ballonis instead of hydrogen

because it is lighter and non inflammbale

D. it is uised in gas cooled nuclear reactors

Answer: C

Watch Video Solution

7. The gas mixture used to provide relief for the asthma

patients in their respiratory problems is

A. 

B. 

Ne + O2

Xe + N2

https://dl.doubtnut.com/l/_iAyGF9s7Cg5q
https://dl.doubtnut.com/l/_n1SJ5DtdzUvN


C. 

D. 

Answer: D

Watch Video Solution

Ar + O2

He + O2

8. Beacon lights are obtained from

A. neon lamps

B. tungston lamps

C. hydrogen lamps

D. xenon lamps

Answer: A

https://dl.doubtnut.com/l/_n1SJ5DtdzUvN
https://dl.doubtnut.com/l/_fFY1u63M17Df


Watch Video Solution

9. In ordinary incadescent and fluorscen lamps the gas filled

along with nitrogen is

A. Ne

B. He

C. Xe

D. Ar

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_fFY1u63M17Df
https://dl.doubtnut.com/l/_x0oaBpOg9HkY


10. Helium - oxygen mixture is used by deep sea divers in

preference to nitrogen-oxygen mixture, because

A. helium in much less soluble in blood than nitrogen

B. nitrogen is much less soluble in blood than helium

C. due to high pressure nitrogen reacts with oxygen to

give poisonous nitric oxide

D. nitrogen is highly soluble in water

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_WmOahyJtL2Q8


11. Which of the following noble gases is used in the

treatment of cancer ?

A. Xe

B. ar

C. Rn

D. Kr

Answer: C

Watch Video Solution

12. Which one of the following statements regarding helium

is incorrect?

https://dl.doubtnut.com/l/_dQkQhnlaISBv
https://dl.doubtnut.com/l/_vYZl2PcMdHH9


Exercise Ii C W Properties

A. it is used to produce and sustain powerful

superconducting magents

B. it is used as cryogenic agnet for carrying out

experiments at low temperatures

C. it is used to fill gas ballonis instead of hydrogen

because it is lighter and non inflammbale

D. it is uised in gas cooled nuclear reactors

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_vYZl2PcMdHH9


1. Oxidation state of Xe in  is

A. 4

B. 6

C. 7

D. 8

Answer: D

Watch Video Solution

Ba2[XeO6]

2. The elements which occupy the peaks of ionization energy

curve are

A. Na,KRb,Cs

https://dl.doubtnut.com/l/_moQoEIl1RABp
https://dl.doubtnut.com/l/_vKUi0txI4pdE


B. Na,MMg,CI,I

C. CI,Br,I,F

D. He,Ne,Ar,Kr

Answer: D

Watch Video Solution

3. The lowest boiling point of helium is due to its

A. inertness

B. gaseous nature

C. high polarisability

D. weak van der waals forces between atoms

https://dl.doubtnut.com/l/_vKUi0txI4pdE
https://dl.doubtnut.com/l/_3dv34EL0ji0m


Answer: D

Watch Video Solution

4. Noble gases are group of elements which exhibit very :

A. high chemical activity

B. much paramagnetic proeprities

C. maximum electronegativity

D. low chemical activity

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_3dv34EL0ji0m
https://dl.doubtnut.com/l/_L02rSOOTh6np


5.  on complete hydroloysis gives

A. Xe

B. 

C. 

D. 

Answer: B

Watch Video Solution

XeF6

XeO2

XeO3

XeO4

6. First stable compound of inert gas was prepared by

A. Rayleight and ramsay

B. bartlett

https://dl.doubtnut.com/l/_1BtIp1DJEGZu
https://dl.doubtnut.com/l/_0SjcKbvC2JNF


C. frankland and lockyer

D. cavendish

Answer: A

Watch Video Solution

7. The element which has not yet been reacted with  is

A. Ar

B. 

C. Kr

D. Rn

Answer: D

F2

Cu2 +

https://dl.doubtnut.com/l/_0SjcKbvC2JNF
https://dl.doubtnut.com/l/_7uiQH8vgxgEL


Watch Video Solution

8. Which has the same electronic configuration as of inert

gas ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Ag3 +

Cu2 +

Pb4 +

Ti4 +

https://dl.doubtnut.com/l/_7uiQH8vgxgEL
https://dl.doubtnut.com/l/_5y7jN3C5oRWP


9. The correct order of enthalpy of vaporisation of noble

gases is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Xe > Kr > Ar > Ne > He

Xe > Ar > He > Ne > Kr

He > Ne > Kr > Ar > Xe

Ne > Xe > Kr > He > Ar

10. Which of the following exhibits the weakest

intermolecular forces?

https://dl.doubtnut.com/l/_TADrQvSC0sGB
https://dl.doubtnut.com/l/_W4cSzJQ7V6hw


A. 

B. 

C. He

D. HCI

Answer: C

Watch Video Solution

H2O

NH3

11. Which of the following noble gas is the most polarized ?

A. radon

B. krypton

C. xenon is the most reacting among rare gases

D. helium

https://dl.doubtnut.com/l/_W4cSzJQ7V6hw
https://dl.doubtnut.com/l/_guPZARLI3aAM


Answer: D

Watch Video Solution

12. Which of the following noble gas is least polarisable ?

A. radon

B. krypton

C. xenon

D. helium

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_guPZARLI3aAM
https://dl.doubtnut.com/l/_6djksOidq9PH


13. The reaction of Xe with an excess of  at high pressure

and 573 K yields

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

F2

XeF2

XeF4

XeF6

XeF3

14. Oxidation state of Xe in  is

A. 4

Ba2[XeO6]

https://dl.doubtnut.com/l/_hp8TPIcsbYn9
https://dl.doubtnut.com/l/_SswSH2HKud0N


B. 6

C. 7

D. 8

Answer: D

Watch Video Solution

15. The elements which occupy the peaks of ionization

energy curve are

A. Na,KRb,Cs

B. Na,MMg,CI,I

C. CI,Br,I,F

D. He,Ne,Ar,Kr

https://dl.doubtnut.com/l/_SswSH2HKud0N
https://dl.doubtnut.com/l/_1k0UTkMGPOMa


Answer: D

Watch Video Solution

16. The lowest boiling point of helium is due to its

A. inertness

B. gaseous nature

C. high polarisability

D. weak van der waals forces between atoms

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_1k0UTkMGPOMa
https://dl.doubtnut.com/l/_uyIm2VJQZC5w


17. Noble gases are group of elements which exhibit very :

A. high chemical activity

B. much paramagnetic proeprities

C. maximum electronegativity

D. low chemical activity

Answer: C

Watch Video Solution

18.  on complete hydroloysis gives

A. Xe

B. 

XeF6

XeO2

https://dl.doubtnut.com/l/_7qEAsMkQjatx
https://dl.doubtnut.com/l/_IcPriH7IUFGE


C. 

D. 

Answer: B

Watch Video Solution

XeO3

XeO4

19. First stable compound of inert gas was prepared by

A. Rayleight and ramsay

B. bartlett

C. frankland and lockyer

D. cavendish

Answer: A

https://dl.doubtnut.com/l/_IcPriH7IUFGE
https://dl.doubtnut.com/l/_0sFSKGgUieEX


Watch Video Solution

20. The element which has not yet been reacted with  is

A. Ar

B. 

C. Kr

D. Rn

Answer: D

Watch Video Solution

F2

Cu2 +

21. Which has the same electronic configuration as of inert

gas ?

https://dl.doubtnut.com/l/_0sFSKGgUieEX
https://dl.doubtnut.com/l/_inPqXnjWyxst
https://dl.doubtnut.com/l/_4LsyXz0FOY20


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Ag3 +

Cu2 +

Pb4 +

Ti4 +

22. The correct order of enthalpy of vaporisation of noble

gases is

A. 

B. 

C. 

Xe > Kr > Ar > Ne > He

Xe > Ar > He > Ne > Kr

He > Ne > Kr > Ar > Xe

https://dl.doubtnut.com/l/_4LsyXz0FOY20
https://dl.doubtnut.com/l/_iAiBAGMQbUAc


D. 

Answer: C

Watch Video Solution

Ne > Xe > Kr > He > Ar

23. Which of the following exhibits the weakest

intermolecular forces?

A. 

B. 

C. He

D. HCI

Answer: C

W t h Vid S l ti

H2O

NH3

https://dl.doubtnut.com/l/_iAiBAGMQbUAc
https://dl.doubtnut.com/l/_uZrZdOgSwiR9


Watch Video Solution

24. Which of the following noble gas is the most polarized ?

A. radon

B. krypton

C. xenon is the most reacting among rare gases

D. helium

Answer: D

Watch Video Solution

25. Which of the following noble gas is least polarisable ?

https://dl.doubtnut.com/l/_uZrZdOgSwiR9
https://dl.doubtnut.com/l/_33lgm8yNw4pE
https://dl.doubtnut.com/l/_u2f9bAjBrAqX


A. radon

B. krypton

C. xenon

D. helium

Answer: C

Watch Video Solution

26. The reaction of Xe with an excess of  at high pressure

and 573 K yields

A. 

B. 

C. 

F2

XeF2

XeF4

XeF6

https://dl.doubtnut.com/l/_u2f9bAjBrAqX
https://dl.doubtnut.com/l/_LgbU9yG5klLl


Exercise Ii C W Structure Uses

D. 

Answer: C

Watch Video Solution

XeF3

1. The shape of  Ion is

A. pentagonal

B. octahedral

C. square pyramidal

D. trigonal bipyramidal

XeF +
5

https://dl.doubtnut.com/l/_LgbU9yG5klLl
https://dl.doubtnut.com/l/_ZPJ77psdViWz


Answer: D

Watch Video Solution

2. Number of  bonds present in  are

A. zero

B. two

C. three

D. four

Answer: C

Watch Video Solution

pπ − dπ XeO4

https://dl.doubtnut.com/l/_ZPJ77psdViWz
https://dl.doubtnut.com/l/_UtRwsTP1HfLa


3. The fluoride of Xenon with zero dipole moment is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

XeF6

XeO3

XeF4

XeO2F2

4.  contains

A. Eight electron paris and no lone pairs at Xe

B. three electron paris and three lone paris at xe

XeO4 −
6

https://dl.doubtnut.com/l/_6Rmb1Kjyppzb
https://dl.doubtnut.com/l/_CpWYIu4GKa4J


C. two electron paris and six lone paris at xe

D. four electron paris and four lone pairs at xe

Answer: C

Watch Video Solution

5. How many lone pairs are associated with xenon in xenon

difluoride ?

A. 1

B. 2

C. 3

D. 4

https://dl.doubtnut.com/l/_CpWYIu4GKa4J
https://dl.doubtnut.com/l/_iprjGDrrdEmp


Answer: D

Watch Video Solution

6.  has

A. three double bonded O atoms

B. trigonal pyramidal geometry

C. one lone pair and  hybridisation

D. all of these

Answer: D

Watch Video Solution

XeO3

sp3

https://dl.doubtnut.com/l/_iprjGDrrdEmp
https://dl.doubtnut.com/l/_0Niw73w7ZSbW


7. The shape of  Ion is

A. pentagonal

B. octahedral

C. square pyramidal

D. trigonal bipyramidal

Answer: D

Watch Video Solution

XeF +
5

8. Number of  bonds present in  are

A. zero

B. two

pπ − dπ XeO4

https://dl.doubtnut.com/l/_haQNlAZN4DyE
https://dl.doubtnut.com/l/_2IpFbmGpnaUM


C. three

D. four

Answer: C

Watch Video Solution

9. The fluoride of Xenon with zero dipole moment is

A. 

B. 

C. 

D. 

Answer: A

XeF6

XeO3

XeF4

XeO2F2

https://dl.doubtnut.com/l/_2IpFbmGpnaUM
https://dl.doubtnut.com/l/_mkt7r5aIPLqa


Watch Video Solution

10.  contains

A. Eight electron paris and no lone pairs at Xe

B. three electron paris and three lone paris at xe

C. two electron paris and six lone paris at xe

D. four electron paris and four lone pairs at xe

Answer: C

Watch Video Solution

XeO4 −
6

11. How many lone pairs are associated with xenon in xenon

difluoride ?

https://dl.doubtnut.com/l/_mkt7r5aIPLqa
https://dl.doubtnut.com/l/_6Sa01XVMGK5y
https://dl.doubtnut.com/l/_94HgX1h1xkRd


A. 1

B. 2

C. 3

D. 4

Answer: D

Watch Video Solution

12.  has

A. three double bonded O atoms

B. trigonal pyramidal geometry

C. one lone pair and  hybridisation

D. all of these

XeO3

sp3

https://dl.doubtnut.com/l/_94HgX1h1xkRd
https://dl.doubtnut.com/l/_ltcNNHOzgp8R


Exercise Iii C W Properties

Answer: D

Watch Video Solution

1. The atomicity of noble gases is

A. atomic weight =equivalent weight x valency

B. atomic weight =equivalent weight /valency

C. at weight =valency /equivalent weight

D. 2x V.D = molecular weight = atomic weight

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_ltcNNHOzgp8R
https://dl.doubtnut.com/l/_sdVnYZ4efT72


2. Which statement about noble gases is not correct ?

A. Xe forms 

B. Ar is used in electric bulbs

C. Kr is obtained during radioactive disintegration

D. He has the lowest b.pt among all the nobles gases

Answer: B

Watch Video Solution

XeF6

3. A radioactive element -decays to give two inert gases. 

is

X X

https://dl.doubtnut.com/l/_sdVnYZ4efT72
https://dl.doubtnut.com/l/_4ilmcCr1zf4N
https://dl.doubtnut.com/l/_fmvsHpZH1V9i


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

U 238
92

Ra226
88

C 14
6

O18
8

4. In order to prevent the hot metal filament from getting

burnt, when the electric current is switched on, the bulb is

filled with

A. 

B. An inert gas

CH4

https://dl.doubtnut.com/l/_fmvsHpZH1V9i
https://dl.doubtnut.com/l/_CWQCfoYHFE9S


C. 

D. 

Answer: C

Watch Video Solution

CO2

CI2

5. The solubility of noble gases in water shows the order

A. 

B. 

C. 

D. none of these

Answer: B

He > Ar > Kr > Ne > Xe

He > Ne > Ar > Kr > Xe

Xe > Kr > Ar > Ne > He

https://dl.doubtnut.com/l/_CWQCfoYHFE9S
https://dl.doubtnut.com/l/_ZrW9sBMlaPd1


Watch Video Solution

6. The ease of liquefaction of noble gases decreases in the

order

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

He > Ne > Ar > Kr > Xe

Xe > Kr > Ar > Ne > He

Kr > Ar > Ne > He

Ar > Kr > NeHe > Ne

https://dl.doubtnut.com/l/_ZrW9sBMlaPd1
https://dl.doubtnut.com/l/_j082rZb6NUf3


7. The increasing d-character in hybridisation of Xe in

 is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

XeF2, XeF4, XeF6

XeF2 < XeF4 < XeF6

XeF4 < XeF2 < XeF6

Xef6 < XeF4 < XeF2

XeF2 < XeF6 < XeF4

8. Which of the following is a "super acid "

A. krypton

https://dl.doubtnut.com/l/_AY2SIXxfO75B
https://dl.doubtnut.com/l/_9JEqGWXyHBFt


B. argon II

C. helium II

D. helium I

Answer: A

Watch Video Solution

9. Which of the following statement is correct ?

A. helium 5 and helium 3 are radioactive nuclides with

short half lives

B.  is obtained from the decay of 

C. Helium is the most aboundant noble gas in the

atmosphere

H 4
2 H 3

1

https://dl.doubtnut.com/l/_9JEqGWXyHBFt
https://dl.doubtnut.com/l/_YeEiLxV3Dd8x


D. helium 4 has a low molecular viscosity and a large

mean free path

Answer: A

Watch Video Solution

10. Which of the following two are isostructural ?

A. 

B. 

C. 

D. 

Answer: B

XeF2, IF −
2

NH3, BF3

CO2 −
3 , SO2 −

3

PCI5, ICI5

https://dl.doubtnut.com/l/_YeEiLxV3Dd8x
https://dl.doubtnut.com/l/_5UbnZl7mQbA4


Watch Video Solution

11. Noble gases are sparingly soluble in water due to

A. Ar

B. Ne

C. Xe

D. Kr

Answer: B

Watch Video Solution

12. When electric discharge is pressed through neon at low

pressure, the colour of the glow is

https://dl.doubtnut.com/l/_5UbnZl7mQbA4
https://dl.doubtnut.com/l/_CW49AqUL0Wgo
https://dl.doubtnut.com/l/_6Nag4Pz8wcAD


A. red

B. green

C. yellow

D. light orange

Answer: A

Watch Video Solution

13. Which mixture is used for respiration by deep sea divers?

A. 

B. 

C. 

D. 

O2 + He

O2 + Xe

O2 + Ar

O2 + N2

https://dl.doubtnut.com/l/_6Nag4Pz8wcAD
https://dl.doubtnut.com/l/_CuYdLEq4vth3


Answer: A

Watch Video Solution

14. Which of the following species contains equal number of

pi and pi bonds ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

XeO4

(CN)2

CH2(CN)2

HCOθ
3

https://dl.doubtnut.com/l/_CuYdLEq4vth3
https://dl.doubtnut.com/l/_s8QXlormfGnh
https://dl.doubtnut.com/l/_7dItsvTaIxcn


15. The atomic mass of noble gases is determined with the

help of the following relationship

A. atomic weight =equivalent weight x valency

B. atomic weight =equivalent weight /valency

C. at weight =valency /equivalent weight

D. 2x V.D = molecular weight = atomic weight

Answer: C

Watch Video Solution

16. Which statement about noble gases is not correct ?

A. Xe forms XeF6

https://dl.doubtnut.com/l/_7dItsvTaIxcn
https://dl.doubtnut.com/l/_zr3AGLIKOaS1


B. Ar is used in electric bulbs

C. Kr is obtained during radioactive disintegration

D. He has the lowest b.pt among all the nobles gases

Answer: B

Watch Video Solution

17. A radioactive element  decays to give two inert gases

is

A. 

B. 

C. 

D. 

X X

U 238
92

Ra226
88

C 14
6

O18
8

https://dl.doubtnut.com/l/_zr3AGLIKOaS1
https://dl.doubtnut.com/l/_X0CIY0yKXLOG


Answer: B

Watch Video Solution

18. In order to prevent the hot metal filament from getting

burnt, when the electric current is switched on, the bulb is

filled with

A. 

B. An inert gas

C. 

D. 

Answer: C

Watch Video Solution

CH4

CO2

CI2

https://dl.doubtnut.com/l/_X0CIY0yKXLOG
https://dl.doubtnut.com/l/_IJW5RPHRXdhs


19. The solubility of noble gases in water shows the order

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

He > Ar > Kr > Ne > Xe

He > Ne > Ar > Kr > Xe

Xe > Kr > Ar > Ne > He

20. The ease of liquefaction of noble gases decreases in the

order

https://dl.doubtnut.com/l/_IJW5RPHRXdhs
https://dl.doubtnut.com/l/_UZdbh7c1nWYa
https://dl.doubtnut.com/l/_5iyUQhNPb1Gb


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

He > Ne > Ar > Kr > Xe

Xe > Kr > Ar > Ne > He

Kr > Ar > Ne > He

Ar > Kr > NeHe > Ne

21. The increasing d-character in hybridisation of Xe in

 is

A. 

B. 

C. 

XeF2, XeF4, XeF6

XeF2 < XeF4 < XeF6

XeF4 < XeF2 < XeF6

Xef6 < XeF4 < XeF2

https://dl.doubtnut.com/l/_5iyUQhNPb1Gb
https://dl.doubtnut.com/l/_LNMSYbMAhyAc


D. 

Answer: C

Watch Video Solution

XeF2 < XeF6 < XeF4

22. Which of the following is a "super acid "

A. krypton

B. argon II

C. helium II

D. helium I

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_LNMSYbMAhyAc
https://dl.doubtnut.com/l/_qARMK060WoIv


23. Which of the following statement is correct

A. helium 5 and helium 3 are radioactive nuclides with

short half lives

B.  is obtained from the decay of 

C. Helium is the most aboundant noble gas in the

atmosphere

D. helium 4 has a low molecular viscosity and a large

mean free path

Answer: A

Watch Video Solution

H 4
2 H 3

1

https://dl.doubtnut.com/l/_qARMK060WoIv
https://dl.doubtnut.com/l/_ITtJxkCCNQpQ
https://dl.doubtnut.com/l/_mWOFvVHXOILe


24. Which of the following two are isostructural ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

XeF2, IF −
2

NH3, BF3

CO2 −
3 , SO2 −

3

PCI5, ICI5

25. Glow in discharge tube is due to

A. Ar

B. Ne

https://dl.doubtnut.com/l/_mWOFvVHXOILe
https://dl.doubtnut.com/l/_ewPvOL2uwyUT


C. Xe

D. Kr

Answer: B

Watch Video Solution

26. When electric discharge is pressed through neon at low

pressure, the colour of the glow is

A. red

B. green

C. yellow

D. light orange

https://dl.doubtnut.com/l/_ewPvOL2uwyUT
https://dl.doubtnut.com/l/_tHkz9oA3x8jI


Answer: A

Watch Video Solution

27. The gaseous mixture used by deep sea divers for

respiration is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

O2 + He

O2 + Xe

O2 + Ar

O2 + N2

https://dl.doubtnut.com/l/_tHkz9oA3x8jI
https://dl.doubtnut.com/l/_hKPpFUt7twfA
https://dl.doubtnut.com/l/_1tfcFfRkZclX


Exercise Iv

28. Which of the following species contains equal number of

pi and pi bonds ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

XeO4

(CN)2

CH2(CN)2

HCOθ
3

https://dl.doubtnut.com/l/_1tfcFfRkZclX


1. Statement I : Balloons made by nylon films are better for

containing helium than the conventional rubber balloons. 

Statement II : R.M.S. velocity of helium is very high. So helium

atom can effuse out through rubber balloons.

A. Both 'I' and 'II' are true 'II' is correct explanation of'I'

B. Both 'I' and 'II' are true 'II' is not correct explanation of

'I'

C. I' is true but 'II' is false

D. I' is flase but 'II' is true

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_AH4pJYH0dcr8
https://dl.doubtnut.com/l/_o4xWLvo1vjrv


2. Statement I : Compared to other noble gases 'Xe' is

chemically active. 

Statement II : 'Xe' has low IP value and vacant 'd' orbitals,

available for the excitation of electrons from 'p' orbitals of

valence shell.

A. Both 'I' and 'II' are true 'II' is correct explanation of'I'

B. Both 'I' and 'II' are true 'II' is not correct explanation of

'I'

C. I' is true but 'II' is false

D. I' is flase but 'II' is true

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_o4xWLvo1vjrv
https://dl.doubtnut.com/l/_zAcRN7vYw8KT


3. Statement I : Noble gases have highest ionization

energies in their respective periods. 

Statement II : The ns-np of outermost shell of noble gases is

completely filled.

A. Both 'I' and 'II' are true 'II' is correct explanation of'I'

B. Both 'I' and 'II' are true 'II' is not correct explanation of

'I'

C. I' is true but 'II' is false

D. I' is flase but 'II' is true

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_zAcRN7vYw8KT


4. Statement I : Deep sea divers use  mixture for

breathing 

Statement II : Unlike , He is not soluble in blood even

under high pressure.

A. Both 'I' and 'II' are true 'II' is correct explanation of'I'

B. Both 'I' and 'II' are true 'II' is not correct explanation of

'I'

C. I' is true but 'II' is false

D. I' is flase but 'II' is true

Answer: D

Watch Video Solution

He − O2

N2

https://dl.doubtnut.com/l/_jguIDs8vT1rk
https://dl.doubtnut.com/l/_YLmUT1qecpgO


5. Assertion :Solubility of noble gases in water decreases

with increases in atomic size 

Reason :Solubility of noble gases in water is due to

instantaneous dipole induced dipole interaction

A. Both 'I' and 'II' are true 'II' is correct explanation of'I'

B. Both 'I' and 'II' are true 'II' is not correct explanation of

'I'

C. I' is true but 'II' is false

D. I' is flase but 'II' is true

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_YLmUT1qecpgO


6. Statement I : He - II has high viscosity and flows

downward. 

Statement II : Liquid helium is used as cryogenic liquid.

A. Both 'I' and 'II' are true 'II' is correct explanation of'I'

B. Both 'I' and 'II' are true 'II' is not correct explanation of

'I'

C. I' is true but 'II' is false

D. I' is flase but 'II' is true

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_iZHovg9jm8Bm


7. Statement I : In sea diver gases, the nitrogen of normal air

is replaced by helium. 

Statement II : Nitrogen becomes more soluble in the body

fluids at high pressures and cases conditions similar to

alcohol intoxication.

A. Both 'I' and 'II' are true 'II' is correct explanation of'I'

B. Both 'I' and 'II' are true 'II' is not correct explanation of

'I'

C. I' is true but 'II' is false

D. I' is flase but 'II' is true

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_UY9f9h0XCZKJ


8. Statement I : Xenon form fluorides. 

Statement II : Because 5d orbitals are available for valence

shell expansion.

A. Both 'I' and 'II' are true 'II' is correct explanation of'I'

B. Both 'I' and 'II' are true 'II' is not correct explanation of

'I'

C. I' is true but 'II' is false

D. I' is flase but 'II' is true

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_gq965vK5h8o2


9. Match the following 

Watch Video Solution

https://dl.doubtnut.com/l/_u0TsiQuBBuJB


10. Matrix matching : 

Watch Video Solution

11. Statement I : Balloons made by nylon films are better for

containing helium than the conventional rubber balloons. 

Statement II : R.M.S. velocity of helium is very high. So helium

atom can effuse out through rubber balloons.

A. Both 'I' and 'II' are true 'II' is correct explanation of'I'

https://dl.doubtnut.com/l/_t4i8XwN9ZVts
https://dl.doubtnut.com/l/_4CdNHumyQKTG


B. Both 'I' and 'II' are true 'II' is not correct explanation of

'I'

C. I' is true but 'II' is false

D. I' is flase but 'II' is true

Answer: A

Watch Video Solution

12. Statement I : Compared to other noble gases 'Xe' is

chemically active. 

Statement II : 'Xe' has low IP value and vacant 'd' orbitals,

available for the excitation of electrons from 'p' orbitals of

valence shell.

https://dl.doubtnut.com/l/_4CdNHumyQKTG
https://dl.doubtnut.com/l/_7qr9m9EL6ZcZ


A. Both 'I' and 'II' are true 'II' is correct explanation of'I'

B. Both 'I' and 'II' are true 'II' is not correct explanation of

'I'

C. I' is true but 'II' is false

D. I' is flase but 'II' is true

Answer: A

Watch Video Solution

13. Statement I : Noble gases have highest ionization

energies in their respective periods. 

Statement II : The ns-np of outermost shell of noble gases is

completely filled.

https://dl.doubtnut.com/l/_7qr9m9EL6ZcZ
https://dl.doubtnut.com/l/_Y6E1p6JyQz1B


A. Both 'I' and 'II' are true 'II' is correct explanation of'I'

B. Both 'I' and 'II' are true 'II' is not correct explanation of

'I'

C. I' is true but 'II' is false

D. I' is flase but 'II' is true

Answer: A

Watch Video Solution

14. Statement I : Deep sea divers use  mixture for

breathing 

Statement II : Unlike , He is not soluble in blood even

under high pressure.

He − O2

N2

https://dl.doubtnut.com/l/_Y6E1p6JyQz1B
https://dl.doubtnut.com/l/_WOlETNKEwH2A


A. Both 'I' and 'II' are true 'II' is correct explanation of'I'

B. Both 'I' and 'II' are true 'II' is not correct explanation of

'I'

C. I' is true but 'II' is false

D. I' is flase but 'II' is true

Answer: D

Watch Video Solution

15. Assertion :Solubility of noble gases in water decreases

with increases in atomic size 

Reason :Solubility of noble gases in water is due to

instantaneous dipole induced dipole interaction

https://dl.doubtnut.com/l/_WOlETNKEwH2A
https://dl.doubtnut.com/l/_kJCbT7EM31zZ


A. Both 'I' and 'II' are true 'II' is correct explanation of'I'

B. Both 'I' and 'II' are true 'II' is not correct explanation of

'I'

C. I' is true but 'II' is false

D. I' is flase but 'II' is true

Answer: D

Watch Video Solution

16. Statement I : He - II has high viscosity and flows

downward. 

Statement II : Liquid helium is used as cryogenic liquid.

A. Both 'I' and 'II' are true 'II' is correct explanation of'I'

https://dl.doubtnut.com/l/_kJCbT7EM31zZ
https://dl.doubtnut.com/l/_fBevf0ZMuOAH


B. Both 'I' and 'II' are true 'II' is not correct explanation of

'I'

C. I' is true but 'II' is false

D. I' is flase but 'II' is true

Answer: D

Watch Video Solution

17. Statement I : In sea diver gases, the nitrogen of normal

air is replaced by helium. 

Statement II : Nitrogen becomes more soluble in the body

fluids at high pressures and cases conditions similar to

alcohol intoxication.

https://dl.doubtnut.com/l/_fBevf0ZMuOAH
https://dl.doubtnut.com/l/_1ExqVHq0nYkX


A. Both 'I' and 'II' are true 'II' is correct explanation of'I'

B. Both 'I' and 'II' are true 'II' is not correct explanation of

'I'

C. I' is true but 'II' is false

D. I' is flase but 'II' is true

Answer: A

Watch Video Solution

18. Statement I : Xenon form fluorides. 

Statement II : Because 5d orbitals are available for valence

shell expansion.

A. Both 'I' and 'II' are true 'II' is correct explanation of'I'

https://dl.doubtnut.com/l/_1ExqVHq0nYkX
https://dl.doubtnut.com/l/_rLKEXPxtCeGF


B. Both 'I' and 'II' are true 'II' is not correct explanation of

'I'

C. I' is true but 'II' is false

D. I' is flase but 'II' is true

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_rLKEXPxtCeGF


19. Match the following 

Watch Video Solution

https://dl.doubtnut.com/l/_i1L9j8VR2Tmr


20. Matrix matching : 

Watch Video Solution

https://dl.doubtnut.com/l/_FQE3pldIxBqR

